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Introduction:

Al Kis[ingbura Primarg School we have adopted our calculation Po[icg from the White Rose Hub's calculation document and other
PDET school members Policies and adapted it for our school needs.

This Policg is a statement of aims, Principles and stro,fegies for the teachmg and learning of calculalion in mathemalics at
Kislingburg Primo,rg School.

This Policg has been deve[oped bg the mathemalics co-ordinalor and reviewed b}j the senior leo,dership and staff leam af Kislmgburg.
This Policg is nok on[g for the use of staff ab our school, but also for Parents, carers, visitors and any other supported of our
children's leo,rning.

The Policg is designecl lo meek with the aims of the 2014 Primo,rg curriculum and Provide a consistent calculation approach across
the school g'w'mg all Pupils the oPPorhmifH lo make informed choices about methods Hmeg can use.

The overall calculation stroiegg in all year groups is ko move from concrele o Pictorial and then abstract. Menkal sh“o,kegies will be
woven into lessons in collaboration with the CPA method (Concrete: using Phﬂsical resources, Pictorial: solv'mg Problems erough

Picture rePresenlo,I:ion, Abstracl: using a written J:ormal method). ¢ 'r.:'u'ih-::..-.|~§'ﬁ¢g|-|n|_fﬁiﬁ;[|;H-,[
e B|241=3






Founclation Stage s

21+452=173

sUM



Keg VOCOl)Z Odd, maore, sum, mo,|<e, tOtOL HOW much maore iS...? One maore, auogeHmer.

Counhng JFIUGDCHC TO count forwards and backwards in SlfePS in |S, 28, 55 and |OS

addends

21452=73

sUMm

To Jt'md one
more than a

given number

up ko 20

USC Pl’lHSiCOl o[zjects tO Odd one olzject ITO innd Hw who[e.

One more than 6 iz 7

Modelled using counters for the Part Whole Method.

Use Pictorial rePresenkahons lo add one olqjeck lo Jt’mcl the whole.

One more than 6 iz 7

eSS e

. 5~
5B S o - :‘:il! -
FO 6

Modelled using Part- Whole with numbers
recorded.

Record as o wriﬂen

calculabion.

&
1

=
=

+ *
in i

=

&+ 1
1 +6

o |
i i

To use ob\jects
lo add two
single—digit

numbers.

Use Phﬂsical ob]ects lo add wo sinqle ob]ects lo F'md the

-

Modelled using counters for the Part Whole Method.

whole. PR

Modelled using a Bead String

Use Pictorial representahons ko o,dd two sinqle obiecls lo Find Hle
Modelled using the Part Whole Method with numbers

whole.

Modelled using a Number Line

5+3=9

REFAE

Record as a wriHen

calculalion.

5+3:z-8
3+5=z8
8=5+3
8=z3+5




Year i addends

21+452=173

sUM



addends

Keg VOCOBZ adclihon, O,dd, mare, ancl, mo,|<es, sum, LOITO,L altogeHwer, counk on, one maore, LWO more...etc, hOW manﬂ maore tO ——rm—,
make? How many more is, than? 21+52=13

Counlinq rluencu: TO COUI’I[? OI"WOI"CJ,S O,I’ICJ, bOCl(WOI"CJ,S in ste S 28, 55 o,nd |OS

1 more than 25 is 26

Modelled using the Part-Whole method with Base 10 then numbers
To J:'md one Use Phgsical 1 more than 25 is 26 Use Pictorial Record as a wrilten
Modelled Using Base 10
more Hw,n a objecks to i representahons to add. calculahon.
given number | add one or fen ‘ + ‘ - : f-ﬂl +2jl = S:
+ =
up ko 100. more than a
To f'md |O given number. 10 more than 25 is 35 eh =24 + 1
10 more than 25 is 35 Modelled using the Part-Whole method with Base 10 then numbers -
more H’tan a Modelled using Base 10 - 25 =1+ 24
(35)
given number L
o B )“‘\
up bo 100. (25 ) (10
N “Roge st
To rePresent Use phﬂsica[ obiects to rind related number racks. Use Pickorial rePresenkahons ko show relaked number fo,cls. Emphasis should be on Hw
o,nd use SmUer Dens lo,n uage
2 more than 5 quage. |
number bonds 2 more than 5 5+2=7 N Y Y Y Y 1 more than 5 is equal to 6.
5+2z7 6 1 2 4 X & & 5 & & 4o “? more than 5 is 7."
and relaled ®Seoee X
subtrachon ‘ & is 3 more than 5.
= F= .
fo,cts within m v ) e
g > s’ )
20. . - 5+2=




To add two

Modelled using the Part Whole Method with numbers

Use Phﬂsica[ 5 + 3 - s Use Pictorial R Record as o wriﬂen
single-digit o[zjecks to ’t + v = w rePresento,hons ko adcl calculahon.
numloers. add two s’mgle e & two single diglts to
Objects ko J_‘Lnd Modelled usi coun:lcrs for the Part Whole Method. J_‘Lnd H’le who[e, ﬁ + 3 = E
53-8 3+5=8
the whole. < *
- Modelled using a Number Line
@@ B=5+3
IS 5+3= § B=34+5
Modelled using a Bead Stri
5+3 =8 e
To add a one Use Phﬂsical olzjecfs lo add one digit o,nd kwo digit Use Pickorial rePresenkaHons fo add one digik o,nd two digit numbers Record as a wriHen
digif and bwo numbers fo r'md a whole. bo f'md a whole. 13+5=18 calculakion.
s . 13 - 18 Modelled using the Bor Model 13 + 5 = 18
digit number Children will represent the problem in — 18— 5 .13 - 18
i @ bar medel. They will then use their . b
[70 20, i . " = krowledge of addition to help solve
! the problem. 18=5+13
'mcluclmg zZero. ] g i ' 18=13 +5
e Part-Whole method with courters - 15+ 0=15
15'0'15 15+ 0= 15 P 0+ 15 = 15
g I'-l. |
. > S 15 =0 + 15
‘e% 15 = 15 + 0




P

Start with the larger number on the bead
string and then count on to the smaller num-
ber 1 by 1 to find the answer.

Jl-f i I i -\H. 'l 'l

10 1M 12 13 & 15 & 1TF 18 1@ 20

Start at the larger number on the number

line and count on in ones or in one jump 1o
find the answear,

To solve one Use Phﬂsica[ Modelled using Part Whole with Base 10 Use Pictorial Record as a wrilten
step Problems ohjects lo solve T=2+4 _ represenkahons Modelled using Part-Whole with mmbers | [ &} '1 calculakion.
- f
that include one slep Problems. ! lo solve one Te7sd O@
/ k [
addition. |ﬁ '.'1 step Problems. 5
., ' Modelled using the Bor Model] » Ff=__+4
? Children would then go on to selve it using
& their knowledge of addition
To start of the | Use thsical ob]ecks bo count on from a number. Use Pictorial representahons lo count on from a number. Record as a wrilten
bigger number 12+5= 17 ) ) calculalion.
and count on. Modelled using a bead string Modelled using a number ling
12+5=17 PRTRRTY 12 + 5= 17
= == 5+ 12 = 17

Fut the larger number in your
head and count on the smaller
number to find your answer.




Step 4- Subtract the 1, which was previoushy
added, from the total to find the final arswer.

Remember to subtract the 1 that was
added to find the final answer, 14-1= 13

YO0
oloole
(===

To regroup o Use Phﬂsical Use physical objects to regroup to make 10. Use Pictorial S X = e Record as a written
make 10 objects o regroup - E45=11 rePresento,hons Con o : calculation.
ﬁ" - 4 e
lo make 10. bo regroup bo 3+ 0w
e | |
make 10, Use pictures or 3 number line. Regroup or
—— - Start with the partition the smaller number using the part T+4=11
B bigger number part whole model to make 10. If T am at seven, how many
#s|  andusethe : more do T need to make 107
. smaller number 9+5 =‘14! o4
| tomake 10. 1[4 Ay How many more do I need
Use ten frames. I e e ey e s T now to make it to 112
To add near Use Phﬂsical objects lo add near doubles. Use Pictorial rePresenkahons lo add near doubles. Record as a written
doubles. 547 calculation.
o0 00
Step 1- Make thie calculation. . . . .
6T = . . . .
® 6+ 7 =13
Step 2- Adjust the & to a 7 by adding 1. Adjust 6 by adding Ltomake it 7. @@ @@ T+6=13
o9 - 900
e Ll Step 3- Add them fo find the total. ,!I. = ® 13 =T &+ &
n L2
Find the answer to double 7 = 14 13 =64+7




Year 2 addends

21+452=173

sUM



Keg VOCO[)Z o,cldihon, Odd, maore, o,nd, mo,|<es, sum, lTOtO,L o,uogeHwer, double, COUI’L[? an, one more, tWO mare, hundred more....etc, hOW mo,ng maore l?O 2'“ ':"d:"_‘n;E _ ?3

make? How many more is,,,H‘»an? How much more is...? UM

Counhng Jrluencg: TO count J.‘OI"WO,rdS o,nd backwards in SLGPS 25, 35, 45, 55 o,nd |OS

TO O,dd q tO a 2 digilf number bg MOI(C H’le number WiH’l H’le bCLSG Len equipment, Hlen O,dCl |O YOU« Hmen SU«IDITOC& | IDGCCLU«SC |O is actua”g one more Hlo,n CI

ac!jushng.
For 23 + 9 you would add 10 fo 23 = 33 then sublract | = 32. Children should begin to do this menlally,

TO O,Cld near dOUblGS. When H’LC numbers are VCFH ClOSC in VO[UG, GC!jUSk one OJ.‘ Hw numbers l70 ma|<e il7 H’le same and H‘Len use knowledge OJ.‘ Parhhonmg ITO

double o,ncl subh‘act |

For 22 + 23 you would double 20 (40) and double 3 (6) = 46 then sublract | = 45.




TO reca“ o,nd

USG PhHSlCO’l OIDJCCI?S tO FCPI’"GSGHIT each Part Of CG[CUlGhOﬂ.

Use Pictorial rePresenkahons lo explore addition Jto,cks lo 20,

Record as a wriHen

use o,clclihon Then use H’lls ko show related o,clclihon fo,cks. ca[culahon.
e ko 20 Modelled using the part whole method with structured number
joes o Modelled usjing part whole method. sentences to show relation facts.
flue”HH- Children explore ways of making g 1 20
number bonds by moving the ' ~ _] -
concrete objects around. / 20 ';H 1 ? =20
20 =7+ 13 2.0 :]
\% []+[]=20 20-[]=[] 20 -1 =2
D+D:2ﬂ 2[]—|:|:|:| 20-?=1
To derive and Use Phgsical ob\jecks bo show related fo,cts up to 100 Use Pictorial rePresentahons bo show related fo,cts up to 100, Record as a written
use relaled ] Children show their thinking using jottings to record their calculation.
Modelled using Base 10 )
fo,cks up bo eq. - - ma’rhem_uhcﬂl
100 343 =6 ElD + D[:l - DDEI EIEID calculations. o oee = W 3+4:=7
leads to...
50... 3+ 3 =% + -
30 + 30 = 60 - H‘l H” “Hll'l 30 +40 =70
+ 30 + 30 = 80 EE @8 _—@E leads to..
-] Elm EERE
300+300 = 600 am 300 + 400 = 700




To add three |
digik numbers

lo 100,

Use Phﬂsical objecks lo add three | diglt numbers to 100.

@
vv 00

Combine to make 10 first if possible, or
bridge 10 then add third digit

Use Pictorial rePresenkahons lo add three | diglt numbers to 100.

Modelled using images
Children find the numbers that make 10 to aid the adding skills.

A

Regroup and draw representation.

Recorcl as a wriHen

calculation.

Children are encouraged to
add the numbers that make

ten before adding the final
number.
4+ 7 +6)= N0+[7]
10
= 7

Cambins the tad numbers that rmaks’
bridge ten then add o0 the third.

To add a wo
digik number

CH’IC[ ones UP

lo 100.

Use Phgsical ob\jecks lo add a two digik number and ones
up ko 100

Children would us equipment for example, Base 10 to help them show
their mathematical thinking.

45 . 4 = 49

Use Piclorial rePresenkaHons lo add a two digik number and ones up

ko 100.

Use the Bar Model method to show number correspondence in order
to find the whole. 5

Using the Bar Model to add 45+4=?

Record as a wriHen

calculalion.

45 + 4 = 49

Explore related facts

45 + 4 = 49
4 + 45 = 49
49 - 45 = 4

49 - 4 = 45




To add
mulhples of
10

Use Phﬁsical objects lo add mulhples of 10

Using place value counters to add

Children use concrete apparatus to show number sentences. Children
then combine to find their answer.

= 60

Use Pickorial rePresenlo,Hons lo add mulhples of 10

Using a Hundred Square
Children circle the smallest number on the 100 square. They then add
the larger multiple of 10 by jumping down in steps of 10.

1|/2|3]|4|5|6|7|8|9]|10
20+40=60 1213|1415 |16 (17|18 19
21|22|23|24|25|26|27|28|29|30
31|32(33|34|35/36|37(38|39|40
414214344145 46|47 |48 49|50
51[52|53|54|55|56|57 |58 |59
61|62|63|64]65|66|67|68|69|70
TL|72|73|74|75|76|7T|78|79|80
81)|82|83|84|85|86|87|88 (89|90
91192|93|94]95|96|97 |98 | 99 |100|

+10

1o
+io
+o

Record as a wriHen

calculahon.
40 + 20 = 80
20 + 40 = &0
60 = 40 + 20
60 = 20 + 40
40 + ?? = 60
?? + 20 = 60

To add a two
digik number

100.

and tens UP ITO

Use Phﬂsical objects lo add a two digit number and lens
up ko 100

Children represent the calculation using base 10 or place value grids
and counters. When finding totals, they add the ones first, then the
tens to find the whole.

Modelled using Base 10

—

27 + 30 = 57

Use Pictorial rePresento,hons lo add a hwo diglt number and lens up

lo 100.

Using a 100 Square 1|2|3|4|5|6|7|8]|9|10
Children circle the non-multiple HIZII3 N0 711010 |20
of 10 then add the multiples of 2lj2z|23|24 |23 36'@" 29|30
10 by jumping down the hundred 31[32|33|34 35|36 |37)38 39|40
square. 41|42(43 (44|45 |46 [47]48 49|50

51|52|53|54 |55 5&@55 59|60

61|62 (63|64 65 |66|67|68|69)|70

Modelled using a number line
Start with the non-multiple of
10 and jump in tens.

27 + 30 = 57

27 + 30

+10 +10 +i0

1 | 1 |
I | | |

27 37 47 57

Record as a wri%en

calculabion.

27 + 10 = 37
27 + 20 = 47
27 + 2 = 57




To add two

digif numbers
bo 100
('mcludmg
bridgmg
bhrough 10)

Use Phﬁsical objects lo add two digit numbers to |00
(inclucling bridgmg H'Lrough 10)

1 Modelled using Base 10
45+34=79

U s

25 + 47 =72

25+47=

Children will need to 72
exchange 10(1s) for 1
(10),

When children bridge through 10, they will need to exchange 10 ones
for 1 ten.

Use Pictorial rePresenfo,hons lo add wo digik numbers o |00
(including bridging erough 10)

45+34=79
+ T O

[111
[11

RadE

Modelled using a number line

Start with the largest number and partition the second. Add the tens
first then the ones. It is important that the children record their
workings underneath. To find the answer, children count the numbers
inside each jump.

25+47=12

4i0 +10 W N YR YR
47 51 61 €¢ € 760 W T2

Record as a wr‘i%en

calculabion.

45
+ 34
9 (5+4)
70 (40+30)
79

Begin to use more
condensed method of
column addition.

23

147
7 2
1




Year 33 sddonds

21+452=173

sUM



Keg VOCGbZ addihon, co[umnar addihon, Odd, maore, o,nd, makes, sum, ITOLO,[ (OJ.‘), a”ogether, increased blj, double, near double, count on, one

more, ITWO maore, hundred more....ekc, inverse, commuto,hve lO,W, |’10W I’TIO,I’IH more LO mo,|<e? HOW mo,nH maore 'LS,,,HIQI’I? HOW much maore iS....P

addends
g = ==,

Counhng Jrluencg: To count forwarcls and backwards in skeps 2s, 3s, ks, Ss, b6s, 8s . |0s and 100s fFrom any given number.

21+52=

73

sUMm

Ad/d leee sma” numbers

7 + |3 + 5 LOOI( fOI’" number bOﬂdS flrst eg |3 + 7 = 20 +5 + 25 or Gd/d tWO numbers o,ncl Hlen O,dd/ H’le flnal one.

Add o three digi} number and ones.

234 + & = simplg add the ones = 238 234 + 1 = use number bonds to fen lo Parhhon. 234 + 6 = 260 + | +24].

Add a three digif number and lens.

k56 + 30 = simply add the tens = 486 456 + 60 = use number bonds to hundred ko partition 456 + 50 = 506 + 10 = 56

Add a three digik number and
hundreds.

353 + 400 = simply add hundreds = 753 353 + 800 = use number bonds to thousand o parlilion 353 + 700 = 1053 + 100 =[153

Add o two digit number fo a 3 digit

[7608 number.

630 + 23 = simply add lens = 653 630 + 84 = use number bonds 630 + 70 = 700 + 10 + 4 = 7l4

Add Po,irs of 2 dlgik numbers.

kS + 33 = simply add columns = 718 45 + 36 = use number bonds 40 + 30 = 70 and 5+ 6 =l and 70 + Il = 8

Add o any three digik number o

mo,|<e H’LG nexk ken or hundred.

326 +? =330 look for number bonds. 326 + 4 = 330. 457 + ? = 500 use number bonds 457 + 3 = 460 + 40 = 500.

A(J,Cl near doubles

5+17=15+15=30+2=32 70 + 80 =80+ 80 =160 — 10 = 150

Add near mulhples of 10 and 100.

23+9=23+10=33-1=32 23k +99 =234 +100 =334 — | =333




To add Use Phﬁsical objects ko o,dd numbers uP to 3 digiks using Use Pictorial rePresentahons lo add o,cld numbers uP to 3 digiks Record as a wriHen
numbers UP to formo,l wriHen meH‘»ods . us'mg formo,l wriHen meH’;ods . calculahon.
3 digits us'mg Modelled using Base 10 and place value b H T O‘ ‘ 233
) counters- 233+142=375 ] : 142
gormal wrillen | “4da the ones first then the ters. ';8 g g 5 (3+2)
TO (30+40
methods — no |  233,142-375 hers | - = {{m,,ﬂ;.o}
. ) 375
regrouping. ' —
Condensed columnar addition
233
+ 142
375
To o,clcl Use Phﬂsical objects ko o,clcl numbers up to 3 digiks Use Pictorial rePresentaHons to adcl numbers up ko 3 digiks Record as a wri%en
b t Modelled using Base 10 and ploce value counters- C) l l t
numoers uP o Add the ones together first then the fens. 37425 T calcutation.
3 diglts using SLestt2 _ ' @8 ‘?

l & L] ; ' 4 Oo Condensed columnar addition
formai written _ ' % €0 Carry below the line when bridging.
methods — h = 37
Wl«H‘t + : = ﬂ

, _62
regrouping Modelled using Base 10 :

Children to understand that the - Qo

highest amount in each column is 9 L L

so sometimes exchange into the 243
next column is necessary. + 373
Children know to exchange ten Is e ? 16
for a ten and ten 10s for a hundred.

243+ 373 = 616 6




To solve
addilion
Problems
’mc[uding
miss'mg

numbers.

Use Phﬂsical objects lo solve addition Problems including

mlsslng numbers.

Children will need to solve problems that are incomplete using their knowledge
of inverse operations.

33=?+ 11

11+ 2 = 33

* 4+ 11 =33

The mizsing pumber con be presented in multiple places.

Maodelled using the Part Whole Method

0 L
10 10 |

Use piclorial represenkahons lo solve addilion Problems

lncludinq missing numbers.

Modelled using the Bar Model
Uze the bar model,

children will make 37+77=62
sense of the problem B2
before solving it. Toisl
Wt
Pat
T TR

Maodelled using the Part Whole

e Hhud

Children use their knowledge of

inverse operations to solve ,-"r

mizsing number problems ;
ng pr ' \J r”‘:‘

effectively. Il\iT \ o
ey M

B2 |

Record as a wri“en

calculation.

37+722=062




Year 4 addends

21+452=173

sUM



addends

Keg Vocab: oddihon, columnar oddihon, adcl, more, o,nd, makes, sum, lolal (OJ?), auogether, exkro,, in o,H, combined, increased bg, double, near r—t——,

21452=73

double, cou,nf on, one maore, LWO maore, hundred more....ekc, inverse, commuto,hve lO,W, |’10W I’TIO,IWH maore tO mo,|<e? HOW I’TIO,IWH maore iS,,,H’LOI’I? HOW much S

more is...?

Counhng Jrluencg: To count forwards and backwards in steps 2s, 3s, ks, bs, 6s, 8s . 9s, 10s, Ils, 125, 100s and 1000s fFrom any given number.

Add four digif numbers o ones

23kk + & = simply add the ones = 2349 234k + T = use number bonds ko partition. 2344 + 6 = 2350 + | = 2351

Add o four digi} number and lens.

k564 + 30 = simply add the fens = 4596 4564 + 60 = use number bonds to partition 4564 + 40 = 4604 + 20 = 4624

Add o four digit number o,nd 3532 + 400 = simPlH adcl hundrecls = 3c|32 3532 + 700 = use number bonds ko Parhhon 3532 + 500 = 4032 + ZOO = 4232
hundreds.

Add o four digi} number and 3532 + 2000 = simplg add thousands = 5532 3532 + 8000 = use number bonds o Parhhon 3532 + 7000 = 10532 + 2000 = 12532
thousands.

Add any Pair of 3 digit mulhples of

te n.

630 + 230 = simply add = 850 630 + 280 = use number bonds 630 + 200 = 830 + 70 =900 + 10 = 910

Add near doubles of 10, 100, 1000

4553 + 39 = 4553 + 40 = 4593 — | = 4592 4553 + 199 = 4553 + 200 = 4753 — | = 4/52
4553 + 1999 = 4553 + 2000 = 6553 — | = 6552

Add near doubles of 2 or3 digﬁ

numbers.

28 + 27 = double 28 + 20 + 20 = 40 + 16 =56 — | =55

Add to decimal fro,chon with ones

o,nd kenH’»s kO mo,|<e Hw next whole.

04 + 7 =10 Use number bonds to 10. 4 + 6 = 10. 04 + 06 = |




To add
numbers UP ITO

b digits.

Use Phﬁsical
objects lo add

numbers UP ITO

A digiks.

Modelled using Base 10

Children to understand that the highest amount in each
column is 9 so sometimes exchange into the next column is
necessary. Children understand that they can exchange ten
1s for a ten and ten 10s for a hundred and ten 100s for a
thousand.

Children begin to understand multi exchange where
exchange is needed in more than one column.

1268+ 1166 =
2434

Use Pictorial representahons lo add numbers up bo & digits.

Children will use images to represent the place value. If exchanging
is needed, this will be shown below the line. This leads to greater
understanding when using the formal written method as the children
know what the digit below the line represents.

2634 + 4517 = 7151 .
o0 .: o.. ::
o0
o® geo o e
-
e *® .:.
e
7 1 5 1

The blue dot represents 1000
and the red dot represents 100. L ]

Record as a wrillen
calculalion.

Condensed columnar addition
Carry below the line

3517 + 396 = 3913

+

-_olw N
WO~

|
(.‘1
|

To solve
simple
measure and
money
Problems up
bo two decimal

PlGCCS.

USG Pl’lHSiCG[ ohjects ITO SO[VG slmple measure o,ncl moneH

Problems UP tO tWO decimal PlO,CGS.

Use physical objects to solve simple measure and money

problems.

Children will gather then organise the amount required.
Using the place value chart, children will then solve the

calculation.

£1.55 + £3.18=£4.73

Yo

‘“oo'“

Pundead s Ter

| Oces *

n°*

@O

Use Pictorial rePresento,hons lo solve simple measure and money
Problems up lo bwo decimal Places.

Use pictorial representations to solve simple measure and money
problems.

Using pictorial representations of money, children to solve up
additions involving numbers with up to two decimal places.

£1.31 + £2.43= £3.74

H T 0

Record as a wriHen

calculabion.

Condensed columnar addition

Children should line the decimals
correctly under one another, considering
place value.

59
55
I|l{-




Vear 5 sddonds

21+452=173
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addends

Keg Vocab: oddihon, columnar oddihon, adcl, more, o,nd, makes, sum, lolal (OJ?), auogether, exkro,, in o,H, combined, increased bH’ double, near W _ ? 3
double, count on, one more, lwo more, hundred more....ekc, inverse, commulalive lo,w, how many more lo make? How many more is,,,Hmo,n? How much _ggm

more is...?

Counhng Jrluencg: To count forwarcls and backwards in steps 2s, 3s, ks, Bs, bs, Is, 8s . 9s, 10, Ils, 125, 100s and 1000s fFrom any given skarhng

Add any Pairs of four digil
mulhples of 100

2300 + 400 = simply add the hundreds and thousands = 6400 4300 + 7800 = use number bonds fo partition. 4000 + 7000 =
1000 and 300 + 800 = 1100 + 11000 = 12100

Add near mulhples of |O, |OO,
1000, 10,000

4564 + 28 = add 30 = 4594 -2 = 4592 4564 + 397 = 4564 + £00 = 4964 — 3 = 496l
564 + 2994 = 4564 + 3000 = 7564 — 6 = 1557

Add tenths to o | diglt whole

number and lenHms.

34 +03= simplﬂ add lenths = 3.7 34 + 08 = number bonds o Parhhon =34 +06=40+02=42

Add one diglt whole numbers and
lenths.

34 +23= simplﬂ add columns = 5.7 34 + 17 = make xI0 bigger: 34 + |7 =5 =5]

Add two digik numbers with tenths
and hundreths

034 + 023 = simply add = 057 034 + 0.78 = make 10x bigger= 34 + 78 + lI2 = |12

Add to a decimal J:rachon wiH1
units and lenths to make the next

who[e

3k +7? =4 = number bonds fo 10= 4 }o 10 = 6. 34 + 06 = 4

Add near doub[es OJ,‘ decimo,ls.

2.1+ 28 = near double 28 + 28 = 56 -| =55 =55




To add

numbers with
more than 4

digits.

Use Phﬁsical
objects lo add
numbers with

more H’LOH

A digils.

Modelled using place value counters

Children to understand that the highest amount in each
column is 9 so sometimes exchange into the next column
is necessary. Children understand that they can
exchange ten 1s for a ten, ten 10s for a hundred, ten
100s for a thousand, ten 1000s for a ten thousand.

Children understand multi exchange where exchange is

needed in more than one column.
52,546 + 34,375 = 86,921

2 6 |

19 2

Use Pictorial represenkahons lo add numbers with more than 4
digilTS. Using dif ferent picterial representations for the values, the children
show exchanges and understand the place value. This leads to greater
understanding when using the formal written method as the children
know what the digit below the line represents.

52,546 + 34,375 = 86,921

Record as a wriHen

calculalion.

Condensed columnar addition
Carry below the line.

Children to solve calculation involving multiple
exchanges.

6554
+ HB48

10432
1

To add

numbers with
up lo two
decimals

PlGCCS.

Use Phﬂsical objects lo add numbers with up lo two

decimals Places.

Modelled using place value charts and counters

2.37 + 91.79 = 94,16

l=ns

ares '.

Laribe hundradih=s

000
000
o)

O
O

o0 00O 000,

O |eo0®

O 000 | 9000
000 | 000e®
O O

Use Pictoria[ represenkahons lo add numbers with up lo two

decimals Places..

Children will use jottings to help them represent the calculation. They
add each column starting first from the furthest column to the right
and carry below the line when needed.

2.37 + 81.79 = o o

84.16 5 2 S
00000 | C
o0

Record as a wri%en

calculabion.

Condensed columnar addition

Children should line decimals up correctly,
including examples when there are different
number of decimal places.

728 :
+546
1274
- B |

0.04
*99




Year 6 sddonds

21+452=173

sUM



Keg Vocab: oddihon, columnar oddihon, adcl, more, o,nd, makes, sum, lolal (OJ?), auogether, exkro,, in o,H, combined, increased bg, double, near

double, cou,nf on, one maore, tWO maore, hundred more....ekc, inverse, commutahve lO,W, |’10W I’TIO,IWH maore tO mo,|<e? HOW I’TIO,IWH maore iS,,,H’LOI’I? HOW much

more is...?

addends
g = ==,

21452=73

Counhng Jrluencg: To count forwarcls and backwards in steps 2s, 3s, ks, Bs, 6s, Is, 8s . 9s, |0s, lls, 125, 100s , 1000s and 10,000 from any given

starhng number.

Add o four digif muuiple of 100 fo & digit

number.

2334 + 400 = simply add the hundreds and thousands = 6434 2334 + 1800 = use number bonds lo parlilion. 2334 + 1000 =
3334 + 500 = 3834 +300 = 4134

Add large numbers

345,000 + 234, 000 = simply add columns = 579000 345,000 + 276,000 = use number bonds lo parlilion = 300,000 +
200,000 = 500,000, 40,000 + 70,000 = 110,000, 5,000+6000 = 11,000 + 110,000 = 121,000+ 500,000 = 621,000

Add near mulitples o 0.01, 01, 10, 100,
1000

39+ 2b =4 +24 =64 —0]=63 232 +398=232+4=632-002=63

Add several | cligil whole numbers and
benth

23 +45+36=23+45=68+36=104=104

Add decimals with differenl numbers of

PlOCCS

023 + 45 =023 + 450 = add columns = 473

Add to any number with two decimal Places

o,ncl ma|<e Hw next tenHl or whole number.

243 +7=25= 243 +006 =250 =25
b45 4?7 =6=445+005=45+05+54+1=6s01+05+15+005+155

Ass lo any number with three decimal

PlO,CGS tO mo,|<e H’le nexk kenHl or whole

2433 + ? = 3 = either use above or 000 knowledge = 3000 — 2433 = 567 s0 2433 + 0567 = 3
2433 +? =25 either use above or 1000 knowledge = 2500 — 2433 = 67 s0 2433 + 0067 = 25

sUMm




To add Use Phﬁsical ?ﬁ::i:ﬁg:f;ﬁt’;i‘;ﬂf; S Use Pictorial rePresenkaHons to add numbers with increasing value. Record as a wrilten
b H’L b l: k dCl column is 9 so sometimes exchange into the next column Using different pictorial representations for the values, the children l l l:
numbers wi opjects to @ is “ECCSSOPY- fhifldren under‘shllgd ;hoi 'f:e):jmz show exchanges and understand the place value. This leads to greater calculation.
t ten, + ot . . . ) !
increasing numbers with 008 o Hintsond, en 4000 For-n fen housarrd. :2:3"::1?;:1 ";:'e." using the formal written method as the children
git below the line represents.
VO[UC increasin Children understand multi exchange where exchange is B1.05 9 ﬁEH
g needed in more than one column. 52,546 + 34,375 = 86,921 _5. &6 &
value. 52,546 + 34,375 = 86,921 2!, 5.30 | + BRdR
+ 0.5 5 |
& Zos7q Lk
W @ . -: IEELEL 111
G
G G
Q ()
e 6 9 72 |
To aclcl WiH’l Use h sical ob'ects ko o,clcl le1 increasing com lexlt . Use lctorial re resentahons to adcl wiH1 increasing com lexlt . Record as a wri%en
P™Y ) g complexity P P g complexity
increasmg anluding adding money, measure. ’mcluding adding money, measure. calculahon.
comp[exikﬂ,
mdudmg 1.30 = BO.T3 = BZ.0% Children will use jottings to help them represent the calculation. They
addin add each column starting first from the furthest column to the right -
J d below the line when needed 13- 3¢
money . . _—— [ and carry below the line when needed. S —E .0 Eg
' plmes haldar i M 4
I 400
measure -. ':":' 2.37 + 81.79 = = . — :: L)
‘ [ 84.16 — o
%'D 0 000 ootn|c
9000 slals -




SUBTRACTION




SUBTRACTION

Foundation Stage g
MinﬁSubféhend




Keg Vocab: lake away, difference between, how many are leﬁ/ leﬁ over?, How many are gone?, one less, lwo less, len less,
how many rewer is .... Than...? How much less LSP Minuend, subtrohend, diﬂterence

Counhng Jrluencg: TO count J:OFWO,FCJ,S o,nd backwards in SLCPS in IS, 28, 55 o,nd |OS

8-3:=5

Minuend Su bfﬂhend ‘R

To Jt'mcl one Use Phﬂsical o[zjects lo one less than a number Use Pickorial rePresenkahons lo one less than a number Record as a wrilten
less than a calculation.
number Modelled on a number line
Circle the biggest number in the number sentence and count
back one on the number line to find the solution. _‘F _ 1 - ﬁ
One lessthan 7
0 1 } & 5 f@ 1 10
I L1 L1 1 "I
I I | I I 1 I | | | I
To subh‘act Use Phgsical olzjecfs lo subh‘act two single digik numbers. Use Pictorial representahons ko subh‘act kwo s'mgle digit numbers Record as a wriHen
two single calculahon.
diuBi=i8 Modelled on a number line
digit numbers. Circle the biggest number in the number sentence and count
back in ones on the number line to find the solution.
S 6-3=3
C e M 10




SU

BTRACTION]

8-3 =5
Minuend Subféhend 253;




Keg VOCObZ take OWOH, difference between, l‘tOW mo,nﬂ are leﬁ/leﬁ over?, HOW mang are 90!‘16?, one less, LWO less, ten less, 8 - 3 _m 5

how many rewer is .... Tho,n...? How much less LSP Minuend, subtrohend, diﬂterence Minu’end Sub‘rﬂhend ‘R

Counhng Jrluencg: TO count J:OFWQFCJ,S o,nd thCI(WOFdS in SLCPS in IS, ZS, 55 o,nd |OS

To Jt'mcl one Use phﬂsica[ o[zjec}s Use Pictorial rePresenkahons Record as a wrikten
less than a | Number line calculakion.
number Modelled using counters Circle the biggest number (minuend) in the number sentence and count
One less than 16 back one (subtrahend) on the number line to find the solution
Use physical objects and find the (difference). 16-1=1h
solution (difference) by taking 16-1
away one object from the group
(minuend), counting backwards.
012345867 89101112131415(18)17 181920
Lttt itiirtitdld
To f'md ben Use Phgsical olzjecfs Use Pictorial represenkahons Record as a written
less than a calculalion.
1 Modelled using Base 10
number. Ten less than 35 Modelled using 100 square
Step 1- Make the number (minuend) using i fz2l3 & s|a|7|8la w| 35=-10=25
base 10 or concrete resources. 1213 1k 15|16 1718|1920, Step 1- Circle the number you are IH-10= 25
21 (22|23 24 starting at (minuend) e.g. 35 B
35|36|37/38 |39 40| Step 2- Count back 10 (subtrahend).
Step 2- Take 10 (subtrahend) away. 4142|4344 4546 47|48 4950| Step 3- The tenth number you land on is
Step 3- Calculate the final answer by sl|s2|s3 /545556 [57[58[5960] voup answer (difference) e.g. 25
counting how many are left (dif ference).




between tWO

numbers

Children begin to compare amounts by representing with

objects.
m 7 'Seven is 3 more than four
oD

I am 2 years older than my
sigter

Childrenuse objects to
represent problems using
the bar model.

v 4l 4

) rseny ’

IMumber line- counting on

Find the difference by counting on from the smaller number
(subtrahend) to the bigger number (minuend).

11-5=6
]
.
0 1 2 3 4 5 6 7 B 9 MW ND

To subtro,ck Use Phgsical objecks Use Pickorial rePresentaHons Record as a wriHen
ITWO single Use a range of physical objects, including number beads. Modelied on:a:muvbier:line CO'[CUlo'hon'
digit numbers. Chctl)dr'e(n ‘.wll f';;i;_he:::‘m'on (d'f_ference) bly g\gk':g ;he Circle the biggest number (minuend) in the number sentence and count
el s *ﬁz v:::.::zvmg SRR back in ones (subtrahend) on the number line to find the solution
) (difference).

6-3=3

ERT iRl EREE
To f'mcl Hw Use Phﬂslcal objecks Use Pickorlal rePresentahons APPlH to word Problems.
clifference

Harnah has 12 sweets and her sister
has 3 sweets. How many more sweets
does Hannh have than her sister?




To subbract
one digik
and two
digit
numbers to
20,
including

Z€ero.

Use Phﬂsical objects.

Use a range of phsical objects (counters, bead strings) and
find a solution (difference) by removing several objects
from the group
(minuend), counting
backwards.

15-3=12

Use of physical objects to subtract numbers using the part
whole model to model.

10-6=4

Vv

]

15-0=15

Use Pictorial represenkahons.

15-3=12
Children represent pictorially by drawing : 2 A —_
objects and crossing out to show what AVAVA AVA
has been taken away. " ' i

A ;‘4&;-,]; 1 /f/
Number line- counting back 15-3=|12
Circle the biggest number (minuend) in the number sentence and count

back in ones on the number line to find the difference.

15-3 =12

101121314

111

16171819 20

111

Bar model
Use the bar model to represent the model pictorially.
15-3=7?

— 15 —
9999999999090 99099

CrFFIFrrrrrrrrrrr)
L.3,J L )

? —

Part-Whole Model
15-0=15

Record as a written calculalion.

Record as a written calculation.
15-3=12

Understand subtraction verbally.
Put 15 in your head, count back 3,
what number are you at?

Use the bar model or part whole model
to find all related addition and
subtraction facts

5
3 | 12
__\l 15=3+12
p
S -
15) 15=12+3
/3’“\ @ 15-3=12
o/ . 15-12=3

Record as a written calculation.
15-0=15




TO SUbI?I"O,CIT
anes frOm

10 and 20

Use Phﬂsical olgjects.

Modelled using uni-fix cubes

10-3:=7

Step 1- Make the bigger number
(minuend).

Step 3- count how many are left to find
out the difference.

Modelled using Base 10

20-6= 14

Make the number sentence using Base 10. To find the difference,
exchange one ten for 10 ones and subtract the smaller number
(subtrahend). Add up how much is left to find the difference.

Use Pictorial represenkahons.

Modelled using the tens frame

Using a tens frame or pictorial representations, children will count out
10 or 20 counters/pictorial representations and either take them away
or cross them out.

10-3=7

Modelled using a pixctorial representation

20-6=14

LT TTTTLT T
R S 3. 1

Record as a written calculalion.

10-3=7

20-6 =14
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Keg VOCGl)Z take OWOH, difference between, hOW mo,m:j are leﬁ/leﬁ over?, HOW mang are 90!‘16?, one less, LWO less, ten less, 8 — 3 _m 5
hundred less, hOW manH J:ewer IS ... Thanp HOW I’TIUCI'L less LS? Tens boundarU, Minuend, sublrahend, difference MinﬁSubTﬂhend R

COUI’ll’iI’lg Jrluencg: TO count J.‘OI"WO,rdS o,nd backwards in steps in |S, 25, 35, 45, 55 o,nd IOS

To sublract 9to a 2 digi} number Make the number with the base ten equipment, then sublract 10. You then add | because 9 is ackua”g one less than 10. Children should
bﬂ ac{jushng. beg’m lo do this menka”g.

For 34 - 9 you would sublract 10 = 24 then add | = 25




TO reg rOUP a

len in to fen

Use Phgsical ob‘jecks

Use Pictorial rePresento,Hons

Record as a wrilten calculalion.

digils

3t |3z 3ad34/28) 5 |37 | 38| 35 |40
ujuhl' 45] 4 |47 40| W3 | %

[z m{s o7 5803
5t sz | sa{sAflag s |57 |58 550 |
{6568 |or (68 88| 0
24 =4

0
0
0
|
4828|7787 |00|
W ¢ Lol W] LAS LA bl W
#5857 0n| w5 |50

95! 94 |57 98| 93 hoo|
L - 4 4 st |

ones Use base 10 to show how to exchange a ten into ten ones | Children represent pictorially by drawing objects in
in order to subtract the ones. groups of ten and crossing out to show what has been
20 - 4= 16 taken away. 20-4=16
K 20 -4 =16 . k, * - _a
g X
- - "-"F-
To subbrach Use Phﬂsical olzjecfs lo find ten less than a number. Use Pictorial rePresento,Hons lo f'md ten less than o Record as a wrilten calculalion.
number, us'mg Use the base ten to represent Trhe numbers (minuend) n Mlled using a number line or 100 square
obiecks then use knowledge of exchanging tens for ten ones to Count back from largest (minuend) to smallest Record by drawing their own number line. Children count
J ! subtract the subtrahend. (subtrahend) number to find the difference. up from the smallest (subtrahend) to largest (minuend)
: e number. Children would first count on to the next ten
Pwmres o,nd 34-9= 25 34-9225 and then the rest.
menta“ | 34 -9=25
Y mnzzvu@u:vunmnn.ulgy.w»r.n.wwl
mcludmg: Pl 2 T B e
B 2 digil? 45-20=25 tl2)slals|e]|7|a]lo]w0 45 - 20= 25
| ».1.2 !J.K{LIS 16 17 1? 19 2?
and ones 21/2223| 24 2ol 26127 | 28 29| 30 ;
3t[32]33] 34|35 fyal37] 38| 35|40 20 L 36 = Uo” LI" u" o R 25

- HP 41 (4243 444546 |47 4845150

2 dlglk 93-7§= 17 ' S— :’ . 93-76= 1]

o,nd kens 93-76=17 :V”‘Z ‘«; 1:[3“1‘;":}1"
- Two?2 it - O e = 760 % N B % A 4L 93




To use
Parhhonmg

tO SUbh‘OCI?

Use Phgsical ohjects

Use base 10 to make the number (minuend). Take away
the ones then the tens to find the difference.

Use Pickorial rePresentaHons

Children draw pictorial representations and cross of f

Record as a wrilten calculabion.

Formal Written Method

lwo diail the ones then the tens. Partition each number then subtract the bottom number
subtrahen rom the top num minuend), starti
J (subtrahend) from the top number ( d) ng
numbers. 43 T 21 - 22 43_21 = EE ﬂ with the ones.
N 43=40+3
20 +1=2]
To use Use Phljsico,l objects Use Pickorial rePresento,Hons Record as a wrilten calculabion.
Parhhonmg
o subbract Use base 10 to make the number (minuend) then regroup | Children draw pictorial representations to show the Formal Written Method
0 sublrac by exchanging a ten for ten ones where necessary so regrouping in order to find how many are left. Partition each number then subtract the bottom number
hwo digit that you can subtract the subtrahend. (subtrahend) from the top number (minuend), starting
[) 45 - 290 = 16 LS with the ones. Exchange tens for ones then recombine
numbers -20= - & Ve to find the solution.
| AL A SR * 45= 30435
H | /! NS -5 = +
wi Vil 45-29 = 16
regrouping ) 29=20+9

10 +¢ =16




Use base 10 to make the number (minuend). The lake oway
the number of lens (sublrahend) required and regroup lo
find the diﬁerence.

A
QAAOn0n

A /

-a.a

L] ] L

Children would cross out how many tens they are
subtracting and count how many they have left to find
the difference.

To sublract Use Phgsical ohjecks Use Pictorial represenkahons Record as a wrilten
lens from the calculation.
lens number Base 10 Modelled using pictorial representations of Base 10
80 - 30 =50 i T Il

up o 100

70 — 20 =50 70-20 =50

Use base |0 to make the number (minuend). The take away Children would cross uu;r how many ‘re..ns 1.-hE"1F: are

the number of tens (sublrahend) r‘equired and regroup lo subtracting and count how many they have left to find

J:incl the diﬁ'erence. the difference.
To subtrock Use Phﬂsica[ o[zjecks Use Pictorial represenkahons Record as a wri&en
Fens from a 2 Modelled using pictorial representations of Base 10 calculation.
digit number Base |0 58 -20 =28

78 — 30 = 48 | 78 -30 = 48




31 -9=28

Step 1- Add 1 to the 9 to make 10.

A9d a4 milmi 1
H H | dd ~ ddg
= M= a o
J5HH8 6

Step 2- Subtract 10 from the minuend.

54 -10

| 1 =

- o | '] "=1

e 4 | H '—_l']

- 5 L4 ol

- - d

— o |

- || d 1

* -2 1

. & [ .

5 ] | ] =1
(-
-

Step 3- Now add the 1 back odd to find the difference.

54-9 = 45

To derive Use Phﬂsical olgjecks Use Pictorial rePresenfaHons Modelled using pictorial representations of Base 10 Record as a written
related fo,cts 10-3=7 calculation.
wp o100 | Modelled using base 0. _ 7,{ ﬁ(
g a0 0t
100 - 30 = 70.
0 —4=6
HH 3 | 100 — 40 = 60
100 — 40 = 60 | ,
To subbract 9 Use Phﬂsico,l ob‘jecks Use pictorial rePresenlahons Record as a written
from a yi digit Modelled using pictorial representations of Base 10 caleulation.
number bH Modelled using base 10. 54-9=45
o,d‘jushng 3/-9=28
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Keg VOCGbZ take O,WO,H, difference between, hOW manH are leﬁ/leﬁ over?, HOW mang are 90!‘18?, one less, LWO [ess, ten [ess,
hundred less, hOW mang J:ewer IS ... Thanp HOW much less LS? Tens bOUI’IdOI"U hundreds boundarﬂ, Minuend, subh‘ahend,

difference

8-3 =5
L

Minuend __Subirahend

Counhng Jrluencg: TO count J.‘OFWO,rdS o,ncl backwarcls in SLGPS in |S, 25, 35, 45, 55, 65, 85, IOS and IOOS from O,nH 9iven number.

Sublract three digik and ones.

236 — 3 simplﬂ sublract the ones. 236 — 8 Parhhon the 8 into 6 and 2. 236- 6 =230 — 72 = 228

Sublract three digil and lens

236 — 20 simplg sublract the tens. 236 — 50 Parhhon the 50 into 30 and 20. 236- 30 = 206 — 20 = 286. Auernahvelﬂ count back in

ITCI'IS.

Sublract three cligit and hundreds

536 — 200 simplg sublract the hundreds. Auernahvelg count back in hundreds.

Sublract ones from a 3 digit ben

250 -6 USG PlOCC VO[UGS kO SO[VC. |O - 6 = [I- SO 50 - 6 = 44 o,ncl Odd on ZOO = 244 Or counk bOCI( in ones.

Sublract a 2 digit number from a
mulhple of ten including crossing

bounclaries.

80 — 34 Place value know[edge of number bonds to tens [0 -4 = 6. Parlilion 34 inko 30 and 4. 80 — 30 = 50 -4 46.
Or work ouk the digperence prom 3k 3k to 40 = 6, 40 lo 80 =40, 40 + 6 = 46,

Sublract a 2 cligit number from a 2
cligit number including cross'mg

Ioounclaries.

83 - 5' SimPlH SUbI,TOCt H’LG columns.

83 — 27 Purlition the 7 into 3 and 4. 83 — 3 =80 — 4 = 76. Then sublract tens 76 — 20 = 56. Or the olher way around.
Or counk porward. 270 30 = 3,30 f0 80 = 50,80 ko 83 = 3,3 + 50 + 3= 56

Subkroct near mulhples OJ,‘ IO o,nd
100 and adjust

45 — 9 Sublract |0 and add |, 45 — 10 = 45 + | = 46
455 — 99 Sublract 100 and add |, 455 — 100 = 355 + | = 456




To sublracl 2
and 3 digit
numbers

without

exchang €.

Use Phﬂsical objecks

Use base 10 to make the number (minuend) then
take away the ones, tens then the hundreds to find
the difference.

Use Pic}orial represenlahons

Children draw pictorial representations to show
the regrouping in order to find how many are

left.

43-21=22
H /

5 -133= 0OOQ (@@
223

Dfﬁ

O

@]e)

®® 00
® 00

L |2 |3

Record as a wrilten calculalion.

Written Method (expanded method)

Partition each number then subtract the bottom number
(minuend) from the top number (subtrahend), starting with
the ones.

43- 21 = 22 356 - 133= 223
43=40+3 356 = 300 + 50 +6
21=20+1 133= 100+ 30+ 3

20 +1= 2} 200420 43 =273
Formal Written Method '
(condensed method) - 43 _ 365
Children begin to use a 21 133
condensed columnar method of 22 232

subtraction.




To subbract 2
o,nci 3 digit
numbers with

excho,ng €.

Use Phgsical olgjecks

Use base 10 to make the number (minuend) then
regroup by exchanging a ten for ten ones and a
hundred for ten tens where necessary so that you
can subtract the subtrahend.

:45- 29=16

Step 1: Make the minuend R
Step 2: Exchange 1 ten for 10 ones.
Step 3: Subtract two tens and 9 ones.

435 - 117 = 318
=]

Step I: Make the minuend
Step 2: Exchange 1 ten for 10 ones.
Step 3: Subtract one hundred,1 ten and 7 ones.

Use Pictorial rePresento,Hons

Children draw pictorial representations to show
the regrouping in order to find the difference.

45 - 20 = 16 "
:_'?—_é_- :"-?D_fl__ll_[lr:r.&-\.’f -
i|:1|l|' e ,_'f_*...
435-117= 318
435-117= B
.. III ED 435.117= I
B W~ Em || B
Sfe.p 3: .. =y
435-117= 2\&
__hunereds s
DEIDEE
co
(] o
O] ]
S | 8

Record as a written calculalion.

Written Method (expanded)

Partition each number then subtract the bottom number
from the top, starting with the ones. Exchange tens for
ones then recombine to find the solution.

45 - 29 435-117=318
10 5 T I [~
45= #Q +%5, 435 = 400 +30.+ 5,
29= 20+9 M7=100+10+ 7
B Job 410+ ¢ =318
10 +¢ =16

Formal Written Method (condensed method)
Children begin to use a condensed columnar method of
subtraction with exchange in one column.

s g
435

29 17

\6 318




TO SU,bh‘O,CI?

amounts OJ.‘

money lo g‘we

change

Use phqsico,l obiecks

Use base money to make the number (minuend) then
regroup by exchanging a ten for ten ones and a
hundred for ten tens where necessary so that you
can subtract to find the difference.

£5-2.72
Step 1: Make the Number
H T v

Step 2: Exchange

H T u
@086
e
96
g &
Step 3: Subtract to solve
H T u

Use Picloria[ rePresento,hons

Children draw pictorial representations to show
the regrouping in order to find how many are
left, this can be in the form of a number line.

Modelled using @ number line.

Children start with the smallest number
(subtrahend) and add to the nearest tenth, then
nearest 1, until you reach the biggest number
(minuend). Children will then need to add the
Jjumps to calculate the change.

£1.00

5.00- £2.72=
E EE £1.00
m 4+ €020
e g +£1.00 +£1.00 o008
£272 £280 £3.00 £4.00 €500 “gaom

Record as a written calculabion.

Formal written method

Children complete subtractions involving decimals which are
presented in word problem format. They use zeros for
place holders and know that decimal points should line up
under each other.

| go to the shop with £5.00
I spend £2.72 - how much change do T get?
£1.00
£5.00-£2.72= 100
+E|-p +10p *'Hﬂ‘.'l 'I'E"I.-':H:I +£1-EIU £ 08
£E272 E280 £3.00 £4.00 £5.00 £ 98




SU

BTRACTION

8-3 =5
Minuend Subféhend 253;




8-3 =5

Keg VOCGbZ take QWOH, difference between, hOW manH are leﬁ/leﬁ over.p, HOW mang are 9008?, one less, LWO [GSS, ten less,
M

hundred less, hOW mang J:ewer IS ... Thanp HOW I’TIUCI'L lGSS LS? Tens bOUﬂdOI"U hundreds boundarﬂ, Minuend, subtrahend, MinﬁSub‘tmhend

difference

Counhng Jrluencg: TO count J.‘OFWO,rdS o,ncl backwarcls in skeps in |S, 25, 35, 45, 55, 65, 85, IOS and IOOS from O,nH 9iven number.

Sublract o 4 digit and ones, including crossing boundaries 2366 — 3 simplg sublract the ones. 2366 — 8 Parhhon the 8 info 6 and 2. 2366- 6 = 2360 — 2 = 2358

Sublract o & digik number and lens including crossmg 2365 — 20 simplg sublract the tens. 2365 — 80 Parhhon the 80 into 60 and 20. 2365 - 60 = 2305 —
boundaries 20 = 2285. /A\HemahvelH count back in ltens.

Sublract o 4 digit number and hundreds crossing boundaries 5362 — 200 simplg sublract the hundreds. 5362 — 400. Parlition into 300 and 100. 5362 — 300 = 5062
— 100 = 4962 Auernahvela count back in hundreds.

Sublract o 4 diglt number and thousands crossing boundaries 5523 - 3000 Use Place values lo solve.

SU,[‘)I,'I"O,CIT a 3 digilf number JTFOITL a mulhple OJ,‘ ten mcludmg 485 - |4O Plo,ce vo,[ue knowledge OJ.‘ number bonds lfO kens 400 - |OO/8O - 40/5 -O = 345

crossing boundaries. 445 - |8O Po,rhhon. 445 - |OO = 345 / 80 into 40 ond 40 = 345 - 40 = 305 - 40 = 265
Or count up.
Subkrocf a 3 digit mulhple of |O from a 4 digik number 3000 - 340 EiH’;er counk up or 3000 - 300 = 2700 - 40 = 2630
Sublract o 2/3 digﬁ number from a 2/3 digﬁ number. 345 — 24, SimPlH sublract columns. 543 — 26| = counl up or Parhhon 26| into 200/60/1 and subbract.

Subtract near mulkiples of 10, 100 and 1000 and adjust. 23k — 29 Subtract 30 add |. 234 — 199. Sublract 200 add |. 2345 — 1999. Sublract 2000 add |.




TO SUbh‘OCI?

numbers with
up lo & digiks
usmg a
formo,l written

method.

Use Phgsical ob‘jecks

Use base 10 to make the number (minuend) then

regroup by exchanging a ten for ten ones, a hundred
for ten tens or a thousands for ten hundreds where
necessary so that you can subtract the subtrahend.

2754-1568=1186

aigan|ncrats] jees | ones

.
.C'O

o9 00 Deo‘u

Step 1: Make the minuend.

| Step 3: Subtract one hundred.1
‘“. ten and 7 ones.

Step 2: Exchange 1 ten for 10 ones.

Use Pictorial represenkahons

Children draw pictorial representations to
show the regrouping in order to find the
difference.

2754 - 1568= 1186

TS H T O
@ 25 | :#-
;g l'lu' 2

AT,
,ooo.,.loo +90 - 62“86

Record as a written calculalion.

Formal written method
Children use a condensed method of subtraction, including
examples with multiples exchanges.

2754- 1568 = 1186
I

4
_2%34

1568
1186




To sub\ject
numbers with
up lo & digiks
using a
formo,l writhen
method,
includlng
decimals fo
two decimal

PlGCGS..

TO SU,bh‘O,CI?

amounts of
money bo g‘we
change-
adapted from
year 3.

Use phﬂsical olczjecks

Use the place value counters to make the number
(minuend) then regroup by exchanging, where
necessary: a thousand for ten hundreds, a hundred
for ten tens, a ten for ten ones, a one for ten tenths
and ten tenths for a hundredth so that you can
subtract.

£1.45-28p=£1.17

Step 1: Make the number

Step 2: Exchange

*because you can't

subtract 8 from 5. o - w.m :mmlm
Children will need to ‘: 'S ::.
exchange 10p for
10x1p.
s | ..... R
Y |ese
Step 3: Subtract to solve #~ -
1t
Lo | |5

Use Pictorial rePresenkahons

Children draw pictorial representations to
show the regrouping in order to find the
difference.

£1.45-28p=£1.17 -

(j Tenths Hundreths

7/
Qe ;:j',

iy m P
sea®
L N |

| | 7

|40.10+0.07= 117

Record as a wrilten calculalion.

Formal written method

Children complete subtractions involving decimals which are
presented in word problem format. They use zeros for place
helders and know that decimal points should line up under
each other.

Bella spends 28p in the shop.
She spends £1.45 of her pocket money. How much
change will she receive?

£1.45 - 28p
£1.%%
N
£3.19




SU

BTRACTION]

8-3 =5
Minuend Subféhend 253;




Keg VOCGbZ SUHTO,CL to,|<e O,WO,I:J, CJ,'L‘H,‘GFGHCG between, l’lOW mo,nH are leﬁ/leﬁ over?, HOW mo,mj are gone?, one less, LWO less, ten

8-3 =5
L

less, hundrecl less, |’10W mo,nU J’,‘CWGI" IS .... -”'LO,I’IP HOW much less lS? TGI’IS boundara, hundreds boundarﬂ, ones boundarﬁ, Minu’end Subtrahend

lenths boundarl:j, inverse, M'mu,encl, subtrahend, difference Counhng Jrluencg: To count forwards and backwards in steps in

|S, 28, 35, 45, 55, 65, 75, 85, CIS, |OS, ”S, IZS, |OOS cmd IOOOS from amJ given nu,mber.

Sublrack a 4/5 digit mulkiple of 3500 — 1200 = simply sublrack place value = 2400. 6300 — 2800= make 100 time smaller = 63 — 28 = 35 x 100 = 3500 or count
100 up. 2800 ko 3000 =200, 3000 ko 6000 = 3000 and 6000 ko 6300 = 300 = 200 + 3000 + 300 = 3500

Sublrack near mulliples of 10,100, | 3455 — 68 Sublrack the nearest 10 (70) then add 2. 3455 — 698 Sublract the nearest |00 (700) and add 2. 5455 — 3996
1000, 10,000 and adjust. Sublract nearest 1000 (4000) and odd 4.

Sublract tenths from a | cligit whole | 34-03 = simplg sublract tenths = 3| 34 - 08 = number bonds o Parhhon =34-04=30-04=26
number and tenths

Sublract bwo | digil whole numbers 34-23 = simplﬂ sublract columns = || 34 - |7 = make xI0 bigger: 3 -17=17=17

from tenths

Sublract 2 cligit numbers with tenths | 0.34 - 023 = simplﬂ subbract = Ol 034 - 0I8 = make 10x blgger: 34 -18 =16 =016

and hundredths

Subtrocf a | digit whole nu,mber 6 - 32 Counk on J:rom 32 32 to 4 = 08 4 ko 6 = 2 = 28

o,nci ITGI’lH’tS J:r‘om a who[e number.




To

SUbh‘OCIf

numbers

WiH’l more

than &
digits.

Use Phﬂslcal objecls

Use the place value counters to make the number (minuend) then regroup

by exchanging, where necessary: a thousand for ten hundreds, a hundred

for ten tens, a ten for ten ones, a one for ten tenths and ten tenths fora
hundredth se that you can subtract.

31056 - 2128 = 28,928

hundned en

h:ugmbl huhd'ad&‘ fens

thousands | Bousasds ones
‘u |‘ . | ‘ooo‘
000 Step 1- Make the number.
|h0l',:-:l"l:l§ thausancs | undreds tens anes
o9 000 000 000|000
oo9 000 O (olele
S99 000 o00D
e 00¢
Qo0
o Step 2- Exchange.
zn
thousands | thewsands | hundreds bens anes
o0 900000 CC (000
o009 ®0 00
eee ©® Step 3- Subtract to solve.

Use Pictorial rePresenkahons

Children draw pictorial representations to
show the regrouping in order to find how
many are left.

31056 - 2128 = 28,928

T T H TO

oy, B Vit
nod
é\}\;;: g;: 00#4
zoobo_‘m.&qw‘{’? :28'Cn'%

Record as a wrilten calculabion.

Formal written method
Children use a condensed method of subtraction
including those with different numbers of digits.

*)3/"/'/10:3’1.6
— 1211129
28928




TO SO[VC

Problems
'mvolv'mg
measure
using
decimal
nokation
up o
three
decimals

PlOCCS.

Use Phgsical objects

Use the place value counters to make the number then regroup by
exchanging, where necessary: a thousand for ten hundreds, a hundred for
ten tens, a ten for ten ones, a one for ten tenths, a hundredths for ten
tenths and a thousandth for ten hundredths.

105.419g - 36.080kg

hun:lrs:ls| ans |nres * terths | "‘"’“| = [ rm:.| tens | Ongs  lisag | resses | R
o | [9gleefo 88 giises
L 1 ] 8%0 3@
. *°888
Step one- Make the numper. Step 2- Exchange.
Iluudle-;hl tans cnes L] | L I """""
oo 08888 ‘ooo
.. . ... Step 3- Subtract to solve.

Use P'Lctorio,l represenkahons

Children draw pictorial representations to
show the regrouping in order to find the

difference.

105.419kg - 36.080kg

aed
il s :' 'E:, L
It :: wk *°0
G?:)un e
A
g0+ g 4 O+ 2030s™
—69.139

Record as a written calculalion.

Formal written method
Children complete subtractions involving decimals
which are presented in word problem format. They use

zeros for place holders and know that decimal points
should line up under each other.

105.419kg - 36.080kg




SU

BTRACTION]

8-3 =5
Minuend Subféhend 253;




Keg VOCGl)Z SU,blTO,CL ko,ke O,WO,lj, difference between, l’lOW mo,nH are leﬁ/leﬁ over?, HOW mo,mj are gone?, one less, LWO less, ten
lGSS, hundrecl less, |"LOW mo,nU J:ewer IS ....

lenths boundarl:j, inverse, M'mu,encl, subtrahend, difference

8-3:=5
L

-”'LO,I’I...? HOW much less lSP TGI’IS boundara, hundreds boundarU, ones boundarﬁ, Minu’end Subtrahend

Counhng Jrluencg: To consalidale counhng forwarcls and backwards in skeps in |s, Zs, 35, 45, 55, 65, 75, 85, qs, |Os, ||s, |Zs,

|OOS o,ncl |OOO$ J.TOm GnH given nu,mber.

Subh’act large numbers

22 33k = 11 200 = simply add the hundreds and thousands = IlI34 52 334 - 3830 = use number bonds o parlilion. 52 334
— 30 = 52304 — 800 = 52504 — 3000 = 49304

Sublrack near mulliples op 0.01, O, 10, 100,
100 then adjust.

5.6 — 2.8 Sublract the nearest whole number (3) and add 02 = 2.8
584 — 297 Sublract the nearest whole number (3) and add 0.03) = 287

Sublract decimals with different number of

PIOCCS

067 - 04 use PlOCC VO[UC knowledge ITO subh‘act COfTCCk column = 027 or XlOO: 67 - 40 = 27 = 027

SU[)ITGC[T O,FIH number W'lHl UP tO H‘»ree

decimal PlOCCS J.‘I"Of’ﬂ a whole number.

2 — 0667 counk on grom 0667. 50 0667 to 0670 = 0003, 0670 o 0.700 is 0.030, 0.700 o I is 0300, | ko 12 is Il and so
I+ 0300 + 030 + 0003 = 11333 or see how far 667 is grom 1000 = 333 = 0333 to | then Il lo [2 = 11333




To sublract
numbers
with

lncreasingl

H large
and
complex

numbers.

Use Phﬂsical objects

Use the place value counters to make the number (minuend) then regroup by
exchanging, where necessary: a thousand for ten hundreds, a hundred for
ten tens, a ten for ten ones, a one for ten tenths and ten tenths for a

hundredth so that you can subtract.
31056 - 2128 = 28,928

m; r::l;-m n_wmlnumsm| fens | ores
000 Q0000
00 000

Step 1- Make the number

[
[T

r-un-a|.|lnn!r.—.|n| [ | onag

ien
Foanands um...,|nuuum [ | ones

(T TT1 I T felalslliis)
oes P88 C |ZOO
epg Bda D00
L ] ® o8

00

L

Step 2- Exchange.

[ ] ] o0 989 CC D00
o99 ®00 0@
e (009 ©@ Step 3- Subtract to solve.

Use Pictorial represenkahons

Children draw pictorial representations to
show the regrouping in order to find how
many are left.

31056 - 2128 = 28,928

TH Tw H T go
o&)\%% %;ﬁ

g;: 00°

Record as a wrilten calculabion.

Formal written method
Children use a condensed method of

31056 - 2128 = 28,928

subtraction
including these with different numbers of digits.




TO SO[VG

Problems
'mvolv'mg

the

conversion

f
measures
up lo 3
decimal

PlOCGS.

Use Phﬂslcal objecks

Use the place value counters to make the number then regroup by
exchanging, where necessary: a thousand for ten hundreds, a hundred for
ten tens, a ten for ten ones, a one for ten tenths, a hundredths for ten

tenths and a thousandth for ten hundredths.

105.419 kg - 36080g As this is a mixed measure problem, children would

first convert so they are working with the same unit.

105.419kg - 36.080kg

hundreds s |ures teriths uu-mlr .

nundreds| tens | 0008 Lining | e | mommm
0 eelel T
[el@] :: ® COL|eee
(818 .. 800 489
Step 2- Exchange.
hum:ln—.-cl:l ans I ones [ | hmnnn. ........
OO DOD
!! . ‘ ..'
bt Step 3- Subtract to solve.

Sh?,p one- Make the number.

Use Pickorlal representahons

Children draw pictorial representations to
show the regrouping in order to find the
difference.

105.419kg - 36.080kg

ad b
il e :. ?’ LY
It ':" ey 470
Gf;:)uu e
2
go+ § 4 03+ .03t

Record as a wrilten calculakion.

Formal written method

Children complete subtractions involving decimals
which are presented in word problem format. They use
zeros for place holders and know that decimal points
should line up under each other. They convert

measures so that they are working with the same unit.

105.419 kg - 36080g would convert into
105.41%kg - 36.080kg

Y's - oy

Lo

1k
g Ok
30‘“‘1







MULTIPLICATION

Founclation Stage ™ .s- S




Keg Vocab: doubling, halving, sho,ring, equal amounts,
Times tables: To inkroduce counhng in steps of 25, 5s and 10s.

This is an eorlu learninq qoal
J J J

Multiplication:
6 x3=18
R

Factor Factor Produc
{or MultiplierY (or Multiolicand]

TO be able 170 USC Pl’lHSiCG[ objects 170 be able tO double numbers
double

numbers R + </‘ '\I__
&

i' . l i (ﬁ /| =

Use Pickorlal representahons lo be able to double numbers

Double 1 equals 2.

1+1=2

Stem Sentence:
Double 1 equals 2




These is an exceeding eo,rlg learning goal

To count in

SITGPS OJ.‘ ZS, 55
and |0s.

Use PhHSiCOl o[zjects tO count in StGPS OJ.‘ ZS, 55 o,ncl |OS

Use Pickorlal rePresenkahons lo count in skeps of Zs, 5s and 10s.

IRADED EX

Children will verbally say their number sequence aloud to
demonstrate their understanding.

2,46 8.
10, 20, 30, 40...

5,10, 15, 20, 25, 30

To experience
ecluo,[ groups
of olzjecks.

USG PhHSiCOl Ol’)\jCCkS ITO exPerience GCtUO/l groups OJ.‘ Ol’)\jCCkS.

Children will experience equal groups of objects. Children will be
encouraged to count the groups, then count how many objects are
in a group.

Eg. 2 x4=

Use Pickorial rePresenkaHons bo exPerience equal groups of ob\jecks.

Children will have images of equal groups to solve multiplication
sentences by counting how many are in each equal group.

. There are bwo groups.

\
| 1 each group,
| | | | .

| | | |

I !

{ /i\\l { /‘/—_i\ There are 4 ted dies in
\\&_L/ | K\&__//

2x4=8

Stem Sentence: I know there

are 2 groups with 4 in each
group.




MULTIPLICATION




Keg Vocab: mulhplicahon, mulhplﬂ, mulhplied bg mulhple, grouping, doubling, array,

Times tables: To count in steps of Zs, 5s and 10s.

Factor
{or MultiplierY (or Multiolicand]

Multiplication:

6 x 3 =18
N

Factor Pr

2
]
=
(%]

To count in
skeps of 2 5
and 10s

USC PhHSiCGl objects I?O COUHI? in SI?CPS OJT 2, 5 o,nd |OS

Children will be able to use concrete resources to count in
steps of 2, §and 10.

Use Pickorial rePresentaHons lo count in steps of 2 5 and 10s

Children will verbally say their number sequence aloud to demonstrate
their understanding.
Children would begin to count aloud and write numbers to match the
sequence. E.g. 0, 5, 10, 15, 20..

Children will be able to count aloud in
sequences, starting at different
points,

Children will be able to write
sequences with multiples of numbers
2,4,6,8.

10, 20, 30, 40..

5,10,15, 20,25, 30..




TO double Use PhHSiCO[ Ol.?jGCl?S tO double numbers UP 170 20

USG PLCtOI’"LG[ rePresent hOﬂS l7 clouble numbers uP tO 20
numbers uP tO

20 Children will demonstrate knowledge of doubling through
concrete resources, including uni-fix cubes.

l, I I l l i Children will be able to use jottings and picture representations to show
I ]
T 4

demonstration of doubling.
,' ’ i
ma
Couble 20 equals 40. Double 16 equals 32 /

When beginning to double more complex numbers, children |

will need to explore partitioning the whole number into tens \

Children will learn to partition a
number and then double each part
before recombining it back Together.

16
/ \
10 6
I x2 l %2
20 + 12 =32

aaa |
@@Q/
e

mu]s’ \
a@a /

and ones, using base 10, and double the tens and then the
ones, before recombinging to find the total. ——

Double 1 equals 2
| H‘I Double 16 equals 32
L !

Stem Sentence:




To make equal Use Phﬂsical ob\jects lo make equal groups and count the Use Pictor‘ial rePresenlfahons lo make equal groups and count
groups and botal. the lotal.
count the Children will use concrete resources to make equal groups. Children will draw jottings and have pictorial representations to
Lobal. demonstrate knowledge of equal groups. 3612
2x6=12
Stem Sentence: I know there are 2
o L groups with 6 in each group.
- BN i B
/e ety T P
{ 3 * A f * * \
| W | | W |
x| | wEw
\ W N N \ N N N
Stem Sentence: I know there are 2 groups with 6 in each \\x_______,,f/ \‘“*»_____--f’ a
group. | knows there are 2 groups and in each group there are § flowers,
To understand | Use physical obiects to understand mulliplicalion as Use pictorial representalions to understand mulliplication as
P d P P P P
mulhplicahon rePeated addition repeo,fed addilion
: - Children will use pictorial representations, including the usze of a Children will be able to write addition
as repeated Children will be able to use a range of concrete resources number line to solve problem. bor sort to decoribe
to add equal groups. rrmber senffences 1o deser
addition pictures or objects.

There are 3 sweets in 1 bag. How many sweets are in 5 bags

Itogether?
altegether 3+3+3+3+3:=15




To understand | Use phﬂsica[ ob‘jects lo understand mulhplicahon as arrays Use Pickorlal rePresenkahons to understand mulhpllcahon as arrays

mulhplicahon

Children will create arrays using concrete objects, which Children will draw their own pictorial representations and will have the
as arrays they then can describe what it represents visually provided to show understanding of arrays. 3x2=6
e.g. 2 lots of 5, 3 lots of 10. . ‘s . ) .
. ots o ots of 2.
; 2x5=10

PRl ey
I1X X1 CIRCT
- -
I X X1, CIRCT
-+ t

w

T T
‘ni ‘o
v v




MULTIPLICATION




Multiplication:

Keg Vocab: mulhplicahon, mulhplg, mulhplied bﬂ mulhple, grouping, doubling, array, row, column. groups of, limes once, 6 x 3 L 18

fwice, three Hmes...ken hmes, rePealed addihon, one each, bwo eo,ch, three each...ken eo,ch, eclu,o,l groups of, mulhplicahon /‘-‘1 \

Factor Factor Produc
{or MultiplierY (or Multiolicand]

Lo,ble, mulhplicahon facL

Times tables: To count in steps of 25, 35, Bs and 10s.

To double Use Phﬂsical objects lo double numbers up lo 100 Use Piclforio,l represenlfahons lo double numbers up lo Partition a number and then double each part before
numbers up lo 100 recombining back together.
100 Model using base 10 to partition a number and then double the Draw pictures and representations to show how to

ones and the tens. 26

double numbers. / \
| :
s Double 26 is 52 20 6
- :QI I e

40 + 12 =52




To count in

mulhples of
Zs, 35, 5s and

10s (repeated
addition)

USC PhHSiCGl ObjCClTS 170 COLLI’II7 in Sl76PS Of 2, 5 o,nd |OS

Count the groups as children are skip counting, children may
use their fingers as they are skip counting.
Use bar models.

Use Pickorio,l rePresento,Hons ko counk in skeps Oj_‘ 2 5

and 10s

MNumber lines, counting sticks and bar models should
be used to show representation of counting in
multiples.

W gy

CNY Y NNV

o 5 10 15 20 25 a0

313|3]3]3

Count in multiples of a number aloud.
Write sequences with multiples of numbers.
0,2,4,6,810
0,3,6,9,12,15

0,5,10,15, 20,25, 30

4x3= | |




To show that

mulhplicahon

is commukahve

Use Phljsico,l objects lo show that mulhplicahon is

commutqhve

Children will create arrays using a variety of concrete

resources, mcludmg cubes and counters.

—ddd L )

®@g00ee
%o

Pupils should understand that an array can represent different
equations and that, as multiplication is commutative, the order
of the multiplication does not affect the answer

3x4=12

Use Pictorial rePresenkahons lo show thal

mulhplicahon is commulalive

Children will use a range of pictures to represent
arrays to show different calulations and show
commuatativity.

|o\ @ o

00® ;3.:-1
h\

Children will write the different multiplication
sentences to show the commutative law.

12=3x4
12=4x3
Children will also be able to use an array to write

multiplication number sentences and reinforce
repeated addition.

Bbx3=15
3x5=15

3+3+3+3+3=15
HF+5+5=15




To use related
mulhplicahon
facts usmg

Hw inverse for

the 2, 3,5
and 10 limes
bables.
Teach

alongside

division.

Children will use concrete resources, including cubes to
represent arrays. These will then form part of the learning
process to explain number related facts and begin to write

these in number form.

2x4=8 4x2=8 8:2=4 8:4=2

Children will use pictorial representations to solve
missing number facts that demonstrate related
facts.

Children will show all 8 related number sentences to
demonstrate related facts.

X X

X X

I

[s T < TN N L IR N K S
I

NI LI N L N < I s <]

oo 0000 00 oo P
1} i




To begin bo
use the 9rid
method to
solve
muuiplicaho

n Problems.

Children will be introduced to the grid method by using arrays
to demonstrate the links.
12x5=60
Step 1: Partition the number info tens and ones, e.q. 12 =10 and 2
and place the multiplier to the side. il

Step 2: times the multiplicand by the
multiplier. Eg. 10 x 5 and 2 x & and record
the answers in base 10 in the boxes.

Step 3: Add both answers fo find the total
for multiplication sentence. E.g. 50 + 10 = 60

Children can represent their work with place value

counters or base 10 in a way that they understand.

They can draw the counters (using colours to show
different amounts or just use the circles in the
different columns) or base 10 like shown below.

12 x5 =60
x| 10 | 2

som A
a@aaa

SALiiashail

50 + 10 = 60

Start with multiplying by one digit numbers and
showing the clear addition alongside the grid.

12x5=60
X

10

50

10

50+ 10=60




MULTIPLICATION




Keg Vocab: mulhplicahon, mulhplg, mulhpliecl bﬂ mulhple, group'mg, doubling, array, row, column, groups of, limes once,

fwice, three Hmes...ken hmes, rePealed addihon, one each, bwo eo,ch, three each...ken eo,ch, eclu,o,l groups of, mulhplicahon /J \

lo,ble, mulhplicahon fact, J:o,ctor, Producl,
Times tables: To count in steps of 25, 3s, 45, 55, 8s and 10s. Also 50 and 100.

Multiplication:

6 x 3 =18

Factor
(or Multiolicand

Factor
(or Multiplier)

Produc

To use related
mulhplicahon
facts us’mg

Hw inverse for

the 2. 34 5, 8
and 10 limes
bables.

Children understand the link between
multiplication and division and use physical objects
to find related facts.

'3x6=18 18-3=6 6x3=18 18-6=3
3] r—
IR LT
Wit At =
0 ‘ $hE W

Children represent an array pictorially then find
the associated multiplication and division facts
by sorting into equal groups.

Children apply their understanding of inverse relationships to
write related multiplication and division statements.

Ix6=18 18=3x6
6x3=18 18=6x3
18-3=6 6=18:3
18-6=3 3=18:6

They use associated vocabulary correctly and know what each
number represents in the calculation.

mutigiar  Tulipicand  product divicend diveEor  Quoien
3 X 6=)8 I8 + 3 = §
I . 1 ’ . 5
MM NLmDEr in mmber number mmbeT number in
of groups  eoch group inaoll inaill of groups  &ach group




TO use a

J:ormal
writen
method of
mulhplicah
on (9rid
method).

2 diglt X |
digit

Children use partitioning to multiply numbers using
the grid method. They partition the multiplicand
and multiply each part by the multiplier. Children
use base ten and place value counters to represent
arrays of the partitioned number.

24 x3=72

Use of unit cubes use of base 10

I —
R e — =

finding the total
60
3 3iugl'4 *_
o | 2

% 213

!

Use of place value counters

Children show their understanding by represent
the calculation in the grid using their own
pictorial representation.

R l+ X3 =72
24 x3:=72 US| 26

Children use jottings to
partition the multiplicand
and multiply each part by
the multiplier.

Formal Method

The children use the grid method for larger numbers. They
multiply numbers by first partitioning the multiplicand and then
multiplying each part by the multiplier. Inyear 3 children are
expected to multiply 2-digit by a 1 digit number.

24 x3=72 c
l
3

X 20 4 =
3 60 12

e O

Children apply their knowledge of multiplication to word problems.

There are 5 balloons in a packet. There are 18 packets in a box.
How many balloons are there altogether in a box?




MULTIPLICATION




Keg Vocab: mulhplicahon, mulhp[g, mulhpliecl bg mulhple, group'mg, doubling, array, row, column, groups of, limes once,

fwice, three Hmes...ken hmes, repealed addihon, one each, bwo eo,ch, three each...ken eo,ch, eclu,o,l groups of, mulhplicahon /J \

lo,ble, mulhplicahon facL fo,ckor, Product, inverse, square, sc[uared, cube, cubecl, distribulive law

Times tables: To know all times tables up bo 12— will be nahono“g lested.

To recall
mulhplicahon
and division
fo,cts for

mulhplicahon

tables UP tO |2
x 12

Children continue to deepen their understanding of the
link between multiplication and division and use physical
objects to find related facts.

3x6=18 18:-3=6 6x3=18 18:6=3
!‘i ”k ":""E;
“" \ i*& .\x -

§%E

W

Children represent an array pictorially then find the
associated multiplication and division facts by sorting
into equal groups.

Multiplication:

6 x 3 =18

Factor Produc

(or Multiolicand

Factor
(or Multiplier)

Children apply their understanding of inverse
relationships to write related multiplication and division
statements.

Ix6=18 18=3x06
bx3=18 18=6x3
18-3=06 6=18 =3
18-6=3 3-18:6

They use associated vocabulary correctly and know what
each number represents in the calculation.

el i bt CLCHT s

mutigier  Fulspheand  product

3 X 46=18 18 + 3 = §

? % 5 P %
LI NUMDET i Pumber numier number  number n
_rtqmnm BN grOup in ol in al of groups &0 h group




To mulhplﬂ
and divide

men}auﬂ,

lncludmg:
mulhplﬂing bH
O and | and
mulhplﬂing
togeHler 3

numbers.

Children multiply and divide numbers by zero and one.
They understand the meaning of the calculation and the
need of equal sized groups.

6x2=12 6x1=6 6x0=0

Children use objects to calculate totals when three
numbers are multiplied together.
2x4x5=40

Children show their understanding of multiplying by O
and 1 by drawing representations.

4X0=0 LxI=Y4
D000 QOO

Children use objects to calculate totals when three
numbers are multiplied together.

2x4x5=40
i cRled]ee)

COCO

G S axe=s

x4 - 9

BxS= 40
Or they may decide to represent it as
2 x(4x5) 2 x(20) =40

Children understand how to multiply by 1 and O and apply
to word problems.

1x83= T6x1=

4567 x 0= Ox23=

Jack earns £12 a week on his paper round. He did not
work for one week whilst he was on holiday. How much
did he earn’

Children solve number puzzles using the knowledge of
multiplying 3 single digit numbers.

Make the target number 30 by using
three of the digits below,




To use a
J:ormal
writen
method of

mulhp[icahon

(9rid method).

3 digit X |
digit

Children recap the grid method introduced in Year 3 and
represent calculations using the place value counters and
base ten equipment. They first partition the multiplicand
then multiply each part by the multiplier.

327 x 4 = 1308
L T
—— R T LI L) ‘ | 200
[T e —— + g o
— L RS 1 1 1 28
“ 0. S45hG . 113 0 8
12006 g0 29 ]

1200 + 80 + 28 = 1308

1200 80 28

1200 + 80 + 28 = 1308

Children show their understanding by represent the
calculation in the grid using their own pictorial
representation.

327 x 4 = 1308

Children use jottings to
partition the multiplicand
and multiply each part by
the multiplier.

Formal Method

The children continue to use the grid method using
partitioning to multiply each part.

Inyear 4 children are expected to multiply 3-digit by a 1
digit number.

327 x 4 = 1308 |2 |ol0
+ g o

X [300|20]| 7 28

4 |1200] 80 | 28 '305

1200 + 80 + 28 = 1308

Children apply their knowledge of multiplication to
worded problems.

fipplo Banara
2P 17 Abox has 70 chooolates in it
‘ 20 children each take J chocolates

Iiz buys four apples and six banamas

How many chooolates are [efl in the box?
How mush doss 6ha spend abogeier?




TO use a J:ormal

writlen method
of mulhplicahon
(short

mulhplicahon).

3 oligit x | oligik

Children represent calculations using the place value
counters and base ten equipment and move towards using
a columnar method. They begin by multiplying the ones,
then the tens then the hundreds before finding the
total.

327 x 4= 1308
7 x4=128
20 x 4= 80
300 x 4 =1200
ones | ! - Y, 28
tens 1 80 I 2\-

—
ol G
@ q o

hundreds ““ 1200
|l 3
B I I

Children represent the
calculation by drawing
pictorial representations.
They partition the
multiplicandthen multiply

each part by the multiplier.

327 x 4 = 1308

Children understand the
place value and can
exchange between
columns which leads to

the formal condensed
method.

327 x 4 = 1308

= .

hunn go

000 000 |00
ooo ooo

I3

g

0oo ooo '\’{’oo 1300
ooo ooo

Formal Method
In year 4 children are expected to multiply a 3-digit by a
1 digit number.

327
Children apply their knowledge of the
grid method begin to record ina x 4
columnar form. At this stage they still 28
partition the multiplicand and multiply 20
each part by the multiplier.
e 1200
1308
Children then move on to using 3 2 7
the condensed method of short pre LL
multiplication. They carry below
the line. | .3 0 8
| i




MULTIPLICATION




Keg Vocab: mulhplicahon, mulhplg, mulhpliecl bﬂ mulhple, group'mg, doubling, array, row, column, groups of, limes once,

fwice, three Hmes...ken hmes, rePealed addihon, one each, bwo eo,ch, three each...ken eo,ch, eclu,o,l groups of, mulhplicahon /J \

lo,ble, mulhplicahon facf, fo,ckor, Product, inverse, square, sc[uared, cube, cubecl, distribulive law

Times tables: To know all times tables up bo 12

Multiplication:

6 x 3 =18

Factor Produc

(or Multiolicand

Factor
(or Multiplier)

To recall
mulhplicahon
and division
fo,cts for

mulhplicahon

tables UP tO |2
x 12

Children continue to deepen their understanding of the
link between multiplication and division and use physical
objects to find related facts.

;x6=18 18-3=6 6x3=18 18:6=3
!‘ ”k N
‘ " % * N .
T TATR

§%E

Children represent an array pictorially then find the
associated multiplication and division facts by sorting
into equal groups.

Children apply their understanding of inverse
relationships to write related multiplication and division
statements.

Ix6=18 18=3x06
bx3=18 18=6x3
18-3=06 6=18 =3
18-6=3 3-18:6

They use associated vocabulary correctly and know what
each number represents in the calculation.

el i bt CLCHT s

mubipiar  mulpbeand  product

3 X 6=)8 18 + 3 = §

Fs . .| F 2 %
LI RIS i il e FismEEr nurmibsr n
_|1' QrouUpS  E0oh group in ol nal of Qroups  &0ch group




To use a J:ormal
written method
of mulhplicahon
(short

mulhplicahon).

b oligit x | digit

Children represent calculations using the place value

counters and base ten equipment. They solve in a columnar
form and begin by multiplying the ones, then the tens then
the hundreds then the thousands before finding the total.

2741 x 6 = 16,446

1x6=6

40 x 6= 240

700 x 6= 4,200
2000 x 6= 12,000

Children represent the calculation by drawing
pictorial representations. They partition the
multiplicandthen multiply each part by the multiplier
They understand the place value and can confidently
exchange between columns. This leads to the
condensed method.

6 @
e Qo © c
oooooon oo + 24 ©
e uioo
ODoO0 ooo @ %ﬁ
ooooooo |
09008 9" >
000008 '

@

Formal Method
In year 5 children are expected to multiply numbers up to
a 4-digit by a 1 digit number.

The children continue to use the condensed method of
short multiplication but with larger numbers. The number
is carried underneath between columns.

342 = ¥ becomes 2741 = 6 becomes

3 4 2 2 7 4 1
® 7 b 6
2 3 9 4 1 6 4 4 6
P a3




To recognise
ancl use square
numbers and

CU«IDC numbers

Children use resources to explore squared and cubed
numbers.

Children represent squared and cubed numbers

pictorially. They use the correct notation for squared
(?) and cubed (?).

42
32 1| 2[4
22 1| 2°[:3 66|73
4 [ 2 a 5 & 9 w|n 12
1|4 78 9 18 1|15 16
2x2=4 3x3=9 4x4=16

1X2=4 1x229
Lx2-% Gy3:7)

2*=% 22z

Children can find and recognise squared and cubed
numbers and use the correct notation for squared (*) and
cubed (?).

2or2x2=4 3
1= 1x1x1 =1
3or3x3=9 %= 2x2x2 =8
3

. 3°= 3x3x3 =27
4ordx4=16 4= 4x4x4 =64




To mu[hplg
whole numbers
and those
'mvolv’mg
decimals bH |0,
100 and 1000.

Children use resources to understand what 10, 100 and
1000 times bigger looks like.

30 is ten times bigger than 3.
300 is ten imes bigger than 30.

300

300 is one hundred times bigger than 3.

Children use place value grids to multiply numbers by
10, 100 and 1000s. They understand the movement of
the digits on the place value grid.

Multiplying

K10 digits mowe LEFT 1 space
K100 digits mowe LEFT & spaces
® 1000 digits mowe LEFT 3 spaces

h
123 x 100= 12300

'HNIERIEK

L

+2 3o . 00 —

They apply this knowledge to decimal numbers.

7.9 x 1000= 7900

10000| 1000 . 100

Children apply their knowledge of place value to multiply
numbers by 10, 100 and 1000, including decimal numbers.

34 x 100= 3400
1234x 1000= 1234000
b6 x10 =56

12.367 x 100 = 1236.7

They apply their knowledge to word and number puzzles.

Complats thesa calculations

15 = 100 =

= 10 = 1500

Breen Airways charges £1600 for a retfurn flight fo
Australia. King Airfines is fen fimes cheaper. How much do

King Airlines charge?




To use a J:ormo,l
written method
of mulhplicahon
(long

mu[hplicahon).

b digit x 2 digit

Children represent calculations using the place value
counters using the grid method.

18 x 13 = 234

18 x 13 = 234

Children then solve ina

columnar form. They begin -

by multiplying the ones, —— g

then the tens, the _""*‘- :
hundreds then the __\::
thousands before finding — g X0
the total. =30

Children will first use their knowledge of place value
to partition the multiplicand and multiplier. They then
show their understand pictorially in a grid method.

18 x 13 = 234
X 10 8
it
I Yo
[o} : e ()

Children then move 18 %173

towards the columnar (1ot 3) T
method by it e
representing each lEX3=0 |+ 233
stage with jottings. |18 x10° | ©
Children are 2 3 L4
encouraged to multiply O —

the ones first.

18 x 13 = 234

Children will first secure their understanding using the
grid method.

18 x13 =234
100
X |10 | 8 + 80
320
10 | 100 | 80 2 4
3 | 30| 24 36

They will then move on to a more condensed method of
long multiplication.

18 x 13= 234 124 x 26 = 3224

W
>

I
X |
]
g

I
i

23

2 U
2 6
76 &
AEIE
31314

|10+




To use a J:ormal
written method
of mulhplicahon
o mu[hplﬂ
numbers up bo 2

decimal Places

(9rid method).

decimals X |

oligik

Children represent calculations using the place value
counters and base ten equipment. They partition the
decimal number and multiply by the multiplier. They then
find the total.

TS x3= .

[

49 x3=147 T

Children continue to multiply
decimal numbers by partitioning
the decimal number. They draw
pictorial representations and
use jottings to find the total.

49 x3=14.7

Using the grid method, children will be able to multiply
decimals with one decimal place by a single digit number.
They should know that the decimal points line up under
each other and place holders are added.

4.9 x 3= 147

X | 4 09| 4! *?
3 12 2.7 _?

Flo




MULTIPLICATION




Keg Vocab: mulhplicahon, mulhplg, mulhpliecl bﬂ mulhple, group'mg, doubling, array, row, column, groups of, limes once,

fwice, three Hmes...ken hmes, rePealed addihon, one each, bwo eo,ch, three each...ken eo,ch, eclu,o,l groups of, mulhplicahon /J \

lo,ble, mulhplicahon facf, fo,ckor, Product, inverse, square, sc[uared, cube, cubecl, distribulive law

Times tables: To know all times tables up bo 12

Multiplication:

6 x 3 =18

Factor Produc

(or Multiolicand

Factor
(or Multiplier)

To recall
mulhplicahon
and division
fo,cts for

mulhplicahon

tables UP tO |2
x 12

Children continue to deepen their understanding of the
link between multiplication and division and use physical
objects to find related facts.

;x6=18 18-3=6 6x3=18 18:6=3
!‘ ”k N
‘ " % * N .
T TATR

§%E

Children represent an array pictorially then find the
associated multiplication and division facts by sorting
into equal groups.

Children apply their understanding of inverse
relationships to write related multiplication and division
statements.

Ix6=18 18=3x06
bx3=18 18=6x3
18-3=06 6=18 =3
18-6=3 3-18:6

They use associated vocabulary correctly and know what
each number represents in the calculation.

el i bt CLCHT s

mubipiar  mulpbeand  product

3 X 6=)8 18 + 3 = §

Fs . .| F 2 %
LI RIS i il e FismEEr nurmibsr n
_|1' QrouUpS  E0oh group in ol nal of Qroups  &0ch group




To use a J:ormal
written method
of mulhplicahon
(short

mulhplicahon).

b oligit x | digit

Children represent calculations using the place value

counters and base ten equipment. They solve in a columnar
form and begin by multiplying the ones, then the tens then
the hundreds then the thousands before finding the total.

2741 x 6 = 16,446

1x6=6

40 x 6= 240

700 x 6= 4,200
2000 x 6= 12,000

Children represent the calculation by drawing
pictorial representations. They partition the
multiplicandthen multiply each part by the multiplier
They understand the place value and can confidently
exchange between columns. This leads to the
condensed method.

6 @
e Qo © c
oooooon oo + 24 ©
e uioo
ODoO0 ooo @ %ﬁ
ooooooo |
09008 9" >
000008 '

@

Formal Method
In year 5 children are expected to multiply numbers up to
a 4-digit by a 1 digit number.

The children continue to use the condensed method of
short multiplication but with larger numbers. The number
is carried underneath between columns.

342 = ¥ becomes 2741 = 6 becomes

3 4 2 2 7 4 1
® 7 b 6
2 3 9 4 1 6 4 4 6
P a3




To use a J:ormal
written method
of mulhplicahon
o mu[hp[ﬂ
numbers up bo 2

decimal Places

(9rid method).

decimals X |

oligik

Children represent calculations using the place value
counters and base ten equipment. They partition the
decimal number and multiply by the multiplier. They then
find the total.

492 x3=14.76

a2 x 3

¥
Q>

1
IS

'loAO
1
m‘moo

Children continue to
multiply decimal
numbers by
partitioning the
decimal number. They
draw pictorial
representations and
Jjottings to find the
total.

use

4.92 x 3 =14.76

Formal method

Using the grid method, children will be able to multiply decimals
with up to two decimal places by a single digit number. They
should know that the decimal points line up under each other and
zeros are added at place holders.

492 x3 | 2.00
+ 2.10

X 4 | 09 |0.02 D. 06

3 12 2.7 |1 0.06 | 4 7 6

Children will move onto using the condensed method.

b 92
X3

| & 7 6




To use a J:ormal
writlen method
of mulhplicahon

(short method).

Mulh—digﬁs x |
digit

Children represent calculations using the place value

counters and base ten equipment. They solve in a columnar
form and begin by multiplying the ones, then the tens then
the hundreds then the thousands before finding the total.

2741 x 6 = 16,446

Ix6=6

40 x 6= 240

700 x 6= 4,200
2000 x 6= 12,000

Children represent the caleulation by drawing
pictorial representations. They partition the
multiplicandthen multiply each part by the
multiplier They understand the place value and can
confidently exchange between columns. This leads
to the condensed method.

"6 @
:‘.".'L".:.':Qa@

Ooooooo
ooooooo l 290

Oooooooo
%E“EEE%

Ooooooo

‘"’&ﬂuﬂ

Eﬂﬂﬂﬂﬂ' @

Formal Method

Inyear 6 children are expected to multiply multi digit numbers

by a 1 digit number.

The children continue to use the condensed method of short
multiplication. The number is carried underneath.

342 = ¥ becomes

3 4 2

E- R

2741 x 6 becomes

2 7 4 1
by b




To use a formal
written method
of mulhplicahon

(long method)

Mulh—digit x 2
digik

Children represent calculations using the place value
counters using the grid method.

124 x 26 = 3224

252 ::: pa-4-

They then solve calculations ina
columnar form and begin by multiplying
the ones, the tens then the hundreds
then the thousands before finding the

total.

124 x 26 = 3224

Children will first use their knowledge of place

value to partition the multiplicand and multiplier.

They then show their understand pictorially ina
grid method.

124 x 26 = 3224

o

238

i
124 x 26 = 3224 24 € -
Children then move L X 2C ‘
towards the columnar , e Medsan
method by representing £4 20

each stage with
jottings. Children are
encouraged to multiply
the ones first.

Formal Method

Inyear & children are expected to multiply multi digit numbers
by a 2 digit number. The children are introduced to long
multiplication. The number is carried underneath.

124 x 26 = 3224

Step 1'.J||'|ul'ri|:|l',,r the mulf.iplii:r by the mlﬁpllicund. " I 12 IE
Start with the ones, multiply 6 by 4 (24). Write G
the 4 in the ones column and corry the 20 below t
the line.
174
Step 20 Multiply the & by 20 (120) and add the 2 |3 2 &
(122). Cross of f the carried 20. Write the 4 in the L4
tens column and carry the 100 below the line. L
Step 3- Multiply the 6 by 100 (600} and odd the K 12 lé
1010 (F700). Cross off the carried 100, Write the 7 kAL
in the hundreds. k6
Step 4 Move to the tens column on the multiplier | 2 L
and start a new line. Multiply the 20 by 4 (80)and  ®_2 &
record 7144
L s _ﬂ ﬂ‘
Step 5+ Multiphy The 20 by 20 (400) and record. I 7 Ll-
Then multiply the 20 by the 100 (200) and record. 2 c
2% 2446
Step &° Total the mumbers. X 16

76

Fw s

Lo £

4 digit x 2 digit
1234 x 16 = 19,744

| 234
X

|
TLo
4

LIMMINTY
e

F O £|T
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YTt Foundation Stage

divisor




Dividend
l

Keg Vocab: shoring, halv'mg, number Po,Herns
40+8=5
\

tient .. 4 : .
6 — awteent R Dijvisor Quotient
4 ) 2 4 . dividend
divisor
To beg'm lo
d'wide [)H Children will use a range of resources to share concrete resources
to begin to demonstrate understanding. Children will unde.r.'sfand E.qml.grwp-s E!.I'1|:| share items out in p.hrf
shar’mg and problem solving. They will court in 25 and 10s and later in
Children will start with an even number and will need to share this 3s. Child will beain +o

out equally in a given group.
€eg.10:2=5

Step 1+ Court how many you have.
Step 2+ Share them equally so each group has the same amount.

Step 3+ Count how many are in each group.

- Y- - " o
S N A Ay N e

J
\\"-..-"f \'\-_ ..-".'.

experiment with writing division
number sentences using the
division symbaol.

m=2=5




ivisor



Keg Vocab: sho,r'mg, halving, number PaHerns, d'wision, d'wid'mg, grouping, sharing, array, equal group'mg, equo,l sharing.

Dividend
l

40 +/8 = 5\
6 - awtient § Divisor Quotient

4 )T dividend

divisor

To divide bﬂ

sharmg.

To halJt a

number uP tO

20.

Children will use concrete resources, including uni-fix cubes
to share into equal groups. Children will also be able to half
a number up to 20 by sharing into equal groups.

Stem Sentence* I know there are 2 groups so I can share
12 counters which will equal 6 in each group.

Children will drow jottings and have pictarial representations to
demonstrate knowledge of sharing into equal groups.

I2-2=6
.-”J- * ", .-"- * ",
’ W \ K W
- B f 4
L W W
- - - -
L L

Vlompoer tharn sre 2 rowps srd in ssch group thare sre 8 flawan.
I2+2=é

12

T

Children will be infroduced to word
problems to solve division problems.

G sweets are shared between 2
people. How mary do they have each?
12268

Stem Sentence' I krow 12 divided
equally between 2 groups’ equals 6.




To divide bH
grouping.

Children will begin to solve division problems, which require
sorting objects and quantities into 2s, 4s, 5s and 10s.

Children will use concrete resources such as cubes,
counters or objects to aid understanding.

10=5=2

Children will use number lines to show grouping.
10+2=5

+2 42 +#2 42 +2

(Y Y YY N

012345678910

Children will also experiment dividing by grouping using the bor medel.

The children will be given a number or picture representatives. This will
represent the whole. They then need to split the whole into the number
of groups they are dividing by and work out how mary would be in each
group.
eg. l0=65=2

10

There are 10 flower bulbs. Plant 2 in
each pot. How many pots are there?

0+2=5

There are 10 flower bulbs. Plant 5 in
each pot. How many pots are there?

I0+5=2




divisor



Dividend
l

Keg Vocab: sho,r'mg, halving, number PaHerns, cl'wision, d'wicl’mg, groupmg, sharing, array, equal 9roup'mg, equo,l sho,r'mg,
40+8=5
awtent | Divisor” \Quotient

4 w dividend

repeaked addilion 5:

divisor
TO dWLde bﬂ Children will use a range of concrete resources, including Children will use pictures and shapes to share quantities.
sharmg. cubes to share objects and quantities into equal groups. i34

I have 12 cubes, can you share them equally info 3
groups?

Children will be writing division number
sertence using the divide symbol.

12+3=4
12+4=13

Children will alse be able to use the bar model to show and
support their understanding.
eg. 12-4=13

‘ 12 ‘




To divide bH

grouping.
(repeated
addition)

Children will begin to solve division problems, which
require sorting objects and quantities into 2s, 4s, 5s and
10s.

Children will use concrete resources such as cubes,
counters or objects to aid understanding.

Children will use rumber lines to show grouping

+3 +3 43 43
LY Y Y b

Q12345678910 11 12

Children will dividing by grouping using the ber medel.

The childgren will be given a number or picture representatives.
This will represent the whole. They then need to split the whole
irfe the mumber of groups they are dividing by and work out how

miany would be in each.

12
Ltz 11 1 1

There are 12 flower bulbz. Plant 3 in each pot.
How many pots are there?

12+3=4

There are 12 flower bulbs. Flant 4 in each pot.
How mamy pots are there?

12-4=3




To use relaked
mulhp[icahon
and division
Jto,cks us'mg the

inverse for Hle

2,3 5and |0
xtable.

Children will use concrete resources, including cubes to
represent arrays. These will then form part of the
learning process to explain number related facts and
begin to write these in number form.

2x4:=8 4x2=-8 8=-2:-4 8-4:-2

Children will use pictorial representations to solve missing
number facts that demonstrate related facts.

N\

=

H

Qooon
oo
oo

Children will show all 8 reloted number
sentences to demonstrate related facts.

P s pa e Fa b 0 o

dw a0 00D 00 00 e P




divisor



Keg Vocab: sho,r'mg, halving, number PaHerns, d'wision, d'wid'mg, grouping, sharing, array, equal group'mg, equ,o,l sharing,
repeated addihon, groups of hmes, divided bﬂ, divide inlo [eﬂ, leﬁ over, remainder grouping, column, division fact, equ,o,l

groups 0f

Dividend
l

40 +{8 = 5\
6 - awtient § Divisor Quotient

4 )T dividend

divisor

To recall
mulhplicahon
and division
facts for the
mulhplicahon
bables up bo 12
x 12

Children continue to deepen their understanding of the link
between multiplication and division and use physical objects
to find related facts.

Ix6=18 18+-3=6 6x3=-18 18+6=3
' ' " ‘. \‘\. ”‘ H‘};\:\
iy W VAT &

‘:\\ J % W

Children represent an array pictorially then find
the associated muitiplication and division facts

by sorting into equal groups.

Children apply their understanding of inverse
relationships to write related multiplication and division
statemerds.

Ixb6:=-18 IB-3=x6
Gx3z1B IB-6x3
IB+3=6 s=18+3
IB+6=3 =186

They use associated vocabulary correctly and krow what
each number represents in the calculation.

A T [ B IO R T )

d X & =8 g+ 3= §
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To use 9rouPlng

lo divide

(repeated
addition)

Children will use concrete resources, inciuding place value
counters to divide by grouping.
96=8=12

Step 1+ Use place value counters to create the dividend.
ANTRETR NIRRT

Step 2* Look at the divisor, this explains the number of
groups you will need. E.g. 8. The children will need to
exchange 1 ten for 10 ones.

Step 3+ Children will need to share out the remaining
rumber so each group is equal.

Children will continue to use repeated addition
on the number line but will work with
increazingly large numbers.

da=g=-12
Children will count on from in Bs from O until
they reach 9.
tH 48 48 4B +H 4 4B B +B S0 e3 ug
T T T
O B 18 24 A7 40 48 56 &4 T2 BO 8B 96

Children will also continue to use the bar model
to support their understanding.

(I N N N NN N N

There are 26 footballs. Each player needs 8 fectballs.
How marey players are there?

d5+8=-12
There are 26 feotballs. Each player needs 12 footballs.
How marwy players are there?

M+12=48

How many groups 8 are in 967

How many groups of 12 are in 962




TO use OFI”O,HS tO

divide

Children will link division to muftiplication by using arrays.

They will begin writing numbers sentences to show what
they can create.

ox4:-24
4x6=z24
24-6=4
24-4:=-6

Children will draw or be given a pictorial
representation of an array. They will circle the
array to split it inte groups to make
maltiplication and division sertences.

STEM- I know 24 < & = 4 because & groups of
4 pguals 24

Children will find the inverse of multiplication and
divizion sentences by creating linking rumber sentences.

ox4=-24
4 x6=24
24+6:z-4
24+4=-6




To divide with

whole numbers
and rePresent

remainders.

Children will use a range of concrete resources to divide
between groups and see what is leff over.

[8-4z-4r2

Children will use a number line te jump forsard
in equal jumps. They will then see how mary more
they need to jump to find the remainder.

13+4=4pr2
1. Count n aquml jumgs

hﬂ 1‘" hﬂ h‘ 3 Ol i b
(Y Y TY O =
0 4 8 12 1 18

2 Gind oz mamiben of
el

Children will complete written division number sertences
using the division symbol and r fo represent the

remainder.

divisar

18+£=4r2
| |\

dividend guatient  remaindes




ivisor



Keg Vocab: sho,r'mg, halving, number PaHerns, d'wision, d'wid'mg, grouping, sharing, array, equal group'mg, equ,o,l sharing,
repeated addihon, groups of hmes, divided bﬂ, divide inlo [eﬂ, leﬁ over, remainder grouping, column, division fact, equ,o,l

SFOUPS OJ,‘.., J,‘OC[TOFS, mulhples,

Dividend
l

40 +{8 = 5\
6 - awtient § Divisor Quotient

4 )T dividend

divisor

To recall
mulhplicahon
and division
facts for the
mulhplicahon
bables up bo 12
x 12

Children continue to deepen their understanding of the link
between multiplication and division and use physical objects
to find related facts.

Ix6=18 18+-3=6 6x3=-18 18+6=3
' ' " ‘. \‘\. ”‘ H‘};\:\
iy W VAT &

‘:\\ J % W

Children represent an array pictorially then find
the associated muitiplication and division facts

by sorting into equal groups.

Children apply their understanding of inverse
relationships to write related multiplication and division
statemerds.

Ixb6:=-18 IB-3=x6
Gx3z1B IB-6x3
IB+3=6 s=18+3
IB+6=3 =186

They use associated vocabulary correctly and krow what
each number represents in the calculation.
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To recognise

and use factor
Po,irs and
commukahvitﬂ in
mental

calculahons.

Children use physical objects to create arrays to support
their understanding of factors.

Factors of 24

O

Children investigate finding all factors of a number by
drawing arrays.

Factors of 24

| Tx 2 ]

262 ax8

The fackory ovid
Lxé 2,346,812,

Children use their knowledge of multiplication and
division facts to find factors of numbers.

Factors of 24

1x24:=-24
2w 12=- 24
IxB=24
4 x bz 24




TO use J.‘Ol"m(ll

writken method

of short division.

2/3 digik
divided bﬁ |
digil (no

remo,inders)

213 digik
divided [)5 |
digil ( simple

remo,'mclers)

Children represent division calculations using concrete
materials such as base 10 and place value counters.

The children partiticn the dividend and put inside the
bus stop then divide each part by the divisor. The
quotient is then recorded on the Top line.

%30T 0

3 2
3 ‘m[m@ 60
0 6

They begin to explore calculafions inwolving simple
remainders.

98- 3 = 32 r2

Q=3 T O

3 2.4
3000 ==,
40 ®

Children represent division calculations using informal

jottings and pictorial representations.

46 = 3 T O

d0:3= 30 6:1=2

They begin to explore caloulations irvalving simple
remainders.

OB 3 =32 r2
48:3 T 0
) e
3 ‘ ) e
Lilalr

In Year 4 children divide numbers up o 3 digits by a
1 digit rumbers with exact answers.

The children are irtroduced to the bus stop method
a= a formal written method.

Q6 = 3= 32
3[9 6

Once children have a secure understanding, they
begin to understand how to record calculations with
simple remainders.

o8- 3 =22 r2

3-2-,
3[9 8

Children apply their knowledge of division to word
problems.

Arron has 77 seeds. He plants 4 seeds in each plant
pot. How many pats does he need?




divisor



Keg Vocab: sho,r'mg, halving, number PaHerns, d'wision, d'wid'mg, grouping, sharing, array, equal group'mg, equ,o,l sharing,
repeated addihon, groups of hmes, divided bﬂ, divide inlo [eﬂ, leﬁ over, remainder grouping, column, division fact, equ,o,l

SFOUPS OJ,‘.., J,‘QC[TOFS, mu[hples, Prime numbers, composite numbers

Dividend
l

40 +{8 = 5\
6 - awtient § Divisor Quotient

4 )T dividend

divisor

To recall
mulhplicahon
and division
facts for the
mulhplicahon
bables up bo 12
x 12

Children continue to deepen their understanding of the link
between multiplication and division and use physical objects
to find related facts.

Ix6=18 18+-3=6 6x3=-18 18+6=3
' ' " ‘. \‘\. ”‘ H‘};\:\
iy W VAT &

‘:\\ J % W

Children represent an array pictorially then find
the associated muitiplication and division facts

by sorting into equal groups.

Children apply their understanding of inverse
relationships to write related multiplication and division
statemerds.

Ixb6:=-18 IB-3=x6
Gx3z1B IB-6x3
IB+3=6 s=18+3
IB+6=3 =186

They use associated vocabulary correctly and krow what
each number represents in the calculation.
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To recognise
and use factor
Po,irs of @
number and
Jt’mcl common
Jto,ckors of hwo

numbers,

Children use physical objects to create arrays to
support their understanding of factors.

Find the common factors of 18 and 24

Factors of 24 Factors of 18

1*

The common factorsare 1, 2, 3 and 6.

Children investigate finding factors by drawing arrays to
find all solutions. They then find factors which belong to
both numbers.

Find the common factors of 18 and 24

Factors of 24

L JOETY |

| PIE | 23

T puihey ve
4at L, NG 8 1 2ma

Factors of 18

Tas fastary oot

are ',1.31(.‘1'.

The common factorsare 1, 2, 3 and 6.

Children use multiplication and division facts to find

factors of numbers.

Find the common foactors of 18 and 24

Facltors ol 244

1 x 24

%xlﬁ
L rx 12

Factors ol 10

@x & @x 8
jl 4 %,
|;::|-—~“"f

The common foectorsare 1, 2, 3 and 6.

min thrss-dig| number bos 2 and 7 2 fecton
254

Virie pngther shres.dight nembar which hae 2 snd 7 as factons

NN




To establish
whether a ) o o _
Children find prime numbers and composite (non-prime Children use jottings and pictorial representations to Children use their knowledge of multiples and factors to
number up o numbers) by using arrays. They understand that investigate composite and prime numbers. find the prime numbers up to 100. They eliminate
; ; composite numbers form arrays and prime numbers . rumbers that have factors other than L They can recall
100 is prime cannot be arranged info arrays. P L NV" LCVS all prime numbers up To 19.
and recall prime S >s 1 [ = e *[5[ =
T 20000 s o :'1[_;1:-1 HE[HE | T A
number‘su to 000000 *9 0| A FAE
P °o
e .o S EEE R R
19 ; o “‘@J"‘ 5 |96 ) %8 || =
00000 000000 » ©o 3:51@5:3&3&(5;5&@50
oo 000D 09090000 e0 —
©edevog 00 | | Bl | L SR BTN L] B
oooe ° o (e B B e (s
co 0o ™ Br| B |BE | BT | BN
ciis a2 'IIH'HHHHE!IHID:




To divide whole Children use place value grids to divide rumbers by 10, Children apply their knowledge of place value to divide

Children use resources to understand what 10, 100 and
numbers o,nci 1000 times bigger looks like. 100 and 1000s. They understand the movement of the rumbers by 10, 100 and 1000, including decimal rumbers.
digits on the place value grid.

ste mVOlvmg 3is ten times smalker than 30. Di"idim 3430+ 10 = 345
. . : 345100 3.45
30 = ten times smaller $an 300 + |
decimals by 10, - . $300 s move RIOHT 2 eomom 2.67 <10= 0.267

3is on2 hundred times smaller than 3. W0 dighy move RIGHT 3 spaces

300 *
They apply their understanding to more complex rumber
IS =100=T 45 puzzies and word problems.

12 7=1000= 0.0127

100, 1000

[ » | 1 1 1 v L . ¥
inkain Bkl B o Lt |5 Cincla e numbar ihal & 10 dmes graater Than sira hurdrod asd soven

! &} e
———" b5
8, 700 w7 B, 007 = ] BOTD

They apply this knowledge to decimal numbers.

Ll*1o= o4 Write the miasing numbas g make this dwvigion e
W wea | vea | m | 1 -I; ﬁ ﬁ
BRI 75+ -75
O.L 2

A P54 is on for sale at a fenth of its arigingl price. It
wspally casts£450 90 How much is it at the sales?




To use a formal
wriHen mede
of short division

(bus SI?OP)

Numbers up bo &
digik divided bg
| digil (with

remo,inders)

Children represent division calculations using concrete
materials such as base 10 and place value courters.

The children partition the dividend and put inside the
bus stop then divide each part by the divisor. The
quotient is then recorded on the top line. The children
work with numbers that involve remainders.

a8 - T= 14
4857 T 0
| s
1 |' | |WL?:::
k\“—.?-' L
432-5 = B& rd
$3135 0

Children represent division cdoulations using informal
jottings and pictorial representations. The children
FECOgRISE remainders.

o8 - 7= 14
%=1 T O
| ]
| =
1| 54 :
Ul e
:-J;ﬁ.r: L:"'" LEFEY
432-5 = B& r2
31 +5 H T ]
l_r-:' & G orln
0 af | FAIE g l
A |
| | § L --|lI &
! I.l.l""""- X

In ¥Year 5 children divide numbers up o 4 digits bya 1
digit number, including calculations involving remainders.
The children contirue fo use the bus stop method as a
formal method of written caloulation.

98 + 7 becomes

432 + 5 becomes
1 4 8 6 r2
£ r 3
L 5 4 3 2
Answer: 14

Ansween 86 remainder 2

Children are expected to interpret non-integor answers

by expressing results as fractions (432:5 = B6 fj;
decimals (432+5 = B6.4) or by rounding (432=5 - 864 =
86 sweets) according fo the comtesdt.

Children apply their knowledge using werd problems and
rumber puzzles.

L et . Sl

Wirite in ha missing digit

l Tha answar dosis not Fudvie 3 Do i
,..-l-E 2 B

. 3 _|a

\‘-\-H.'\.!
b

-




divisor



Keg Vocab: sho,r'mg, halving, number PaHerns, d'wision, d'wid'mg, grouping, sharing, array, equal group'mg, equ,o,l sharing,
repeated addihon, groups of hmes, divided bﬂ, divide inlo [eﬂ, leﬁ over, remainder grouping, column, division fact, equ,o,l

SFOUPS OJ,‘.., J,‘QC[TOFS, mu[hples, Prime numbers, composite numbers

Dividend
l

40 +{8 = 5\
6 - awtient § Divisor Quotient

4 )T dividend

divisor

To recall
mulhplicahon
and division
facts for the
mulhplicahon
bables up bo 12
x 12

Children continue to deepen their understanding of the link
between multiplication and division and use physical objects
to find related facts.

Ix6=18 18+-3=6 6x3=-18 18+6=3
' ' " ‘. \‘\. ”‘ H‘};\:\
iy W VAT &

‘:\\ J % W

Children represent an array pictorially then find
the associated muitiplication and division facts

by sorting into equal groups.

Children apply their understanding of inverse
relationships to write related multiplication and division
statemerds.

Ixb6:=-18 IB-3=x6
Gx3z1B IB-6x3
IB+3=6 s=18+3
IB+6=3 =186

They use associated vocabulary correctly and krow what
each number represents in the calculation.
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To recognise
and use factor
Po,irs of @
number and
Jt’mcl common
Jto,ckors of hwo

numbers,

Children use physical objects to create arrays to
support their understanding of factors.

Find the common factors of 18 and 24

Factors of 24 Factors of 18

1*

The common factorsare 1, 2, 3 and 6.

Children investigate finding factors by drawing arrays to
find all solutions. They then find factors which belong to
both numbers.

Find the common factors of 18 and 24

Factors of 24

L JOETY |

| PIE | 23

T puihey ve
4at L, NG 8 1 2ma

Factors of 18

Tas fastary oot

are ',1.31(.‘1'.

The common factorsare 1, 2, 3 and 6.

Children use multiplication and division facts to find

factors of numbers.

Find the common foactors of 18 and 24

Facltors ol 244

1 x 24

%xlﬁ
L rx 12

Factors ol 10

@x & @x 8
jl 4 %,
|;::|-—~“"f

The common foectorsare 1, 2, 3 and 6.

min thrss-dig| number bos 2 and 7 2 fecton
254

Virie pngther shres.dight nembar which hae 2 snd 7 as factons

NN




To establish
whether a ) o o _
Children find prime numbers and composite (non-prime Children use jottings and pictorial representations to Children use their knowledge of multiples and factors to
number up o numbers) by using arrays. They understand that investigate composite and prime numbers. find the prime numbers up to 100. They eliminate
; ; composite numbers form arrays and prime numbers . rumbers that have factors other than L They can recall
100 is prime cannot be arranged info arrays. P L NV" LCVS all prime numbers up To 19.
and recall prime S >s 1 [ = e *[5[ =
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To use a formal
wriHen mede
of short division

(bus SI?OP)

Numbers up bo &
digik divided bg
| digil (with

remo,inders)

Children represent division calculations using concrete
materials such as base 10 and place value courters.

The children partition the dividend and put inside the
bus stop then divide each part by the divisor. The
quotient is then recorded on the top line. The children
work with numbers that involve remainders.

a8 - T= 14
4857 T 0
| s
1 |' | |WL?:::
k\“—.?-' L
432-5 = B& rd
$3135 0

Children represent division cdoulations using informal
jottings and pictorial representations. The children
FECOgRISE remainders.

o8 - T=- 14
5= T O
I ]
| -
T :
i il
:-J;ﬁ.r: L:"'" LEFEY
432-5 = B& r2
4¥1%3 H T O
l_r-:' g G rle
t| a0 ||l ' ||| | L--I:‘I II
| i |'|.|.r -

InYear & children divide lorger numbers by a I digit number
with calculations inwolving remainders. The children continue

to use the bus stop method as a Tormal method of written
calculation

08 + 7 becomes
433 = S bemnmes
14 E B r2
i L
fle & $| 43 2
Answear: 14

Ardwear 36 namired gr 1

Children are expected to inferpret non-integar answers by
expressing results as fractions (432:5 = 86 i}. decimals
(4325 = B6.4) or by rounding (432+5 = 864 = 86 sweets)
according to the context.

Children apply their knowledge using word problems and
number puzzies.

Sharon buys a pack of 24 cans of lemanade far £6. How much
does each can cost?

Ve e miasing raERer

Tl = = 3.5

ria b mnsing nurebsr o aach caloulaias

28 *| = ¥eemarder 4




To use a formal
written method
of long division

(bus SkOP)

Divide lo,rger
numbers bH 2
digik numbers
(irwolving

remainders)

Children represent division caloulations using concrete
materials such as base 10 and place value counters.

The children partition the dividend and put inside the bus

stop then divide each part by the divisor. The quotient is
then recoerded on the Top line.

43245 H

Mo

Children represent division calcubations using irformal
jottings and pictorial representations.

43245 H T 0

Thie children use the bus stop methed as a formal method of
written calcubation. They use their understanding of the

pictorial and concrete stages fo understand the value of each
number.

432 = 15 = 28 rl2. GRS .
]
Step one- Children will put the caleulation 0
irte the bus stop grid and list their multiples e
of the divisor. "
i
Step 2- Stort with the hundreds. The
divisor doesn't divide info 4 so combine the 0?7
4 hundred with the 3 tens (430). Use the I_
multiples of 15 to calculate the nearest 13 i%_‘l
multiple. Two x 15 iz 30. Record this 13
underneath, put the Z on the fop then
subtract.
Step 3+ The divisor does divide into 13 so D28
combine the 13 tens with the 2 ones (132). 5 |k 3 7
Usze the multiples of 15 to calculote the
nearest multiple. & x 15 is 120. Record this | 32
underneath, put the & on the fop then | 20
subtract. | 2
Step 4+ The number left is your 078 i ':ﬂ
remainder, record this with your A rew r .
answer 432 + 15 - 28 rl2. i
134 %
[N =) qo
K (1]
L
115
i

Children are expected o inferpret non-integar answers by

iz q
expressing results as fractions (432:15=281 =285 ),
decimals (43215 = 28.8) or by rounding (432:15 = 288 = 20
cars) according to the comtext.




